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Question Number : 1 Question Id : 71087010961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : 2 Wrong Marks : 0

Which school of thought laid down one of the principles of teacher and learner role as follows,

"The teacher's role is not to direct, but to advise because the child's own interest should
determine what he learns”

1. Perennialism

2. Progressionism

3. Essentialism

4. Reconstructionism
Options :
71087043681. 1
71087043682. 2
71087043683. 3
71087043684. 4

Question Number : 1 Question Id : 71087010961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043681. 1
71087043682. 2
71087043683. 3
71087043684. 4

Question Number : 2 Question Id : 71087010962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the list given below, identify those features which relate to an approach to teaching and
learning in indirect strategies of teaching

A. Engagement in an inquiring process

B. Concept-based content presentation

C. Gaining attention and informing the learners of the instructional objective

D. Presenting the stimulus material and stimulating recall of prerequisite learning
E. Encouraging students to use references from their own experiences

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B andE only
4.C, D and E only
Options :
71087043685. 1
71087043686. 2
71087043687. 3
71087043688. 4

Question Number : 2 Question Id : 71087010962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043685 1
71087043686. 2
71087043687. 3
71087043688. 4

Question Number : 3 Question Id : 71087010963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For use during teaching, from the list given below, identify questions that are ‘process
type’ rather than ‘content-type’

A. Divergent questions

B. Fact-based questions

C. Concept-based questions

D. Lower order questions

E. Higher-order questions

Choose the correct answer from the options given below:

1.A,Cand E only
2. B, Cand D only
3.C, D and E only
4. B, D and E only
Options :
71087043689. 1
71087043690. 2
71087043691. 3
71087043692. 4

Question Number : 3 Question Id : 71087010963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043689. 1
71087043690. 2
71087043691 3
71087043692. 4

Question Number : 4 Question Id : 71087010964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Reliability is a necessary but insufficient condition for validity

Statement II: In respect of evaluation tools, validity is not an all or none concept but it exists
as a continuum

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087043693. 1

71087043694. 2

71087043695. 3

71087043696. 4

Question Number : 4 Question Id : 71087010964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043693. 1
71087043694. 2
71087043695. 3
71087043696. 4

Question Number : 5 Question Id : 71087010965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Systems of education which are place-specific, time-specific and person-specific
are said to be formal and are created by laid down law and procedures

Reason R: Open universities and open schools are the example of a formal system of
education because they are created by laid down procedures

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043697. 1
71087043698. 2
71087043699. 3
71087043700. 4

Question Number : 5 Question Id : 71087010965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043697. 1

71087043698. 2

71087043699. 3

71087043700. 4

Question Number : 6 Question Id : 71087010966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following metheods of acquiring knowledge save time and effort on the part of
the researcher?

1. Method of experience

2. Inductive method

3. Deductive method

4. Methed of consulting an authority
Options :

71087043701. 1

71087043702. 2



71087043703. 3
71087043704. 4

Question Number : 6 Question Id : 71087010966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043701. 1

71087043702. 2

71087043703. 3

71087043704. 4

Question Number : 7 Question Id : 71087010967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of the qualitative research paradigm?

A. The research is concerned with understanding the social phenomena from the participant's
perspective

B. It seeks to establish relationships, among variables and explains the causes of changes in
measured social facts

C. It is conducted in actual settings as the direct source of data and the researcher is the key
instrument

D. It is concerned with the process rather than simply with outcomes or products
E. It attempts to establish universal context-free generalization
Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, Cand D only
4.C, D and E only
Options :
71087043705. 1
71087043706. 2
71087043707. 3
71087043708. 4

Question Number : 7 Question Id : 71087010967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043705 1
71087043706. 2
71087043707. 3
71087043708. 4

Question Number : 8 Question Id : 71087010968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A researcher administers an achievement test to assess and indicate the possible effect of an
independent variable in his/her study. The distribution of scores on the test is found to be
negatively skewed. On the basis of this, what can be stated with regard to the difficulty level of
the test?

1. The test is very easy

2. The test is very difficult

3. The test is neither easy nor difficult

4. The test is easy and needs normalization
Options :

71087043709. 1

71087043710. 2

71087043711. 3

71087043712. 4

Question Number : 8 Question Id : 71087010968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087043709. 1
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Question Number : 9 Question Id : 71087010969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A researcher has to observe codal formalities at all stages without scope and
leeway for offending moral and ethical norms

Reason R: In respect of data collection, data analysis and interpretation there is, however, a
considerable scope of being ethically vulnerable

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043713. 1

71087043714. 2

71087043715. 3

71087043716. 4

Question Number : 9 Question Id : 71087010969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043713 1

71087043714 2

71087043715. 3

71087043716 4

Question Number : 10 Question Id : 71087010970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The scope for employing ICT support is relatively more in which of the following stages of
research?

A. Problem formulation

B. Hypothesis making

C. Data collection

D. Data analysis

E. Data interpretation

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. D and E only
Options :
71087043717. 1
71087043718. 2
71087043719. 3
71087043720. 4

Question Number : 10 Question Id : 71087010970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 710870316
Question Shuffling Allowed : Yes
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Question Numbers : (11 to 15)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow
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Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two organizations. In both instances, the shape of the organization can be expected to
change radically. An organization transforming from a preduction orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes from a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.
Currently, globalization is one of the most powerful external forces for organizational
transformation.

A third distinguishing feature of transformation is that the change is deep and pervasive,
rather than shallow and contained. The change affects all parts of the organization and
involves many levels. Decentralization, downsizing and the geographic relocation of functions
and activities exemplify changes that transform structural relationships deeply and pervasively.

Finally, transformation requires significantly different, and even entirely new, sets of actions by
the members of the organization, rather than more or less of existing behavior patterns.
Examples are changes to the norms and core values of an organization that are brought about
through acquisition, deregulation, and privatization or through a drastic strategic repositioning
such as shifting from a production-efficiency focus to a customer-service strategy.

Sub questions

Question Number : 11 Question Id : 71087010972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Richard Beckhard, transformation is what kind of change in the
organisational structure?

1. Incremental
2. Discontinuous
3. Finetuning

4, One-time
Options :
71087043721. 1
71087043722. 2
71087043723.3
71087043724. 4

Question Number : 12 Question Id : 71087010973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What happens when two organisations merge?

A. Shape of the organisation will change

B. Product orientation remains the same

C. Drastic decentralisation of authority

D. Discontinuous change does not take place

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only



Options :

71087043725. 1
71087043726. 2
71087043727.3
71087043728. 4

Question Number : 13 Question Id : 71087010974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The pressure of market force can result in

1. Distortion of role perceptions

2. Changing to a functional structure
3. Changing to a divisional structure
4. Deregulation of competitive factors
Options :

71087043729. 1

71087043730. 2

71087043731. 3

71087043732. 4

Question Number : 14 Question Id : 71087010975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main levels of organizational transformation?
A. Downsizing

B. Geographical relocation

C. Contained changes

D. Power to external forces

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043733. 1
71087043734. 2
71087043735. 3
71087043736. 4

Question Number : 15 Question Id : 71087010976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does organizational transformation require?

1. Strengthening existing behaviours of members
2. Changes in norms and core values

3. Production-efficiency strategy

4. All pervasive structural relationships

Options :

71087043737. 1

71087043738. 2



71087043739. 3
71087043740. 4
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Question Numbers : (11 to 15)
Question Label : Comprehension
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Options :
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71087043722. 2
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71087043725. 1
71087043726. 2
71087043727. 3
71087043728. 4

Question Number : 13 Question Id : 71087010974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087043730. 2
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Question Number : 14 Question Id : 71087010975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : 2 Wrong Marks : 0
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
WEIHD T & o0 71 SHURE § 2

1. U&Hl & Udfed 0deR &1 Yoo ol
2. AHI Ud Hdbigd Jcdl § 9gad

3. 3G BT DI WHIT

4. FH TREAHED AT TaY
Options :

71087043737. 1




71087043738. 2
71087043739. 3
71087043740. 4

Sub-Section Number : 3
Sub-Section Id : 710870317
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The domain of media appeal addresses the issues related to

1. Knowledge
2. Learning

3. Legality

4. Emotions
Options :
71087043741. 1
71087043742.2
71087043743. 3
71087043744. 4

Question Number : 16 Question Id : 71087010977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i arficr @1 oraT g T O G £ 7

Options :



71087043741. 1
71087043742. 2
71087043743. 3
71087043744. 4

Question Number : 17 Question Id : 71087010978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following will make a student a good listener in the classroom?
A. Ability to deflect attention

B. Concentration

C. Desire to understand

D. Emotional outbursts

E. Humility to know

F. Ignoring the other side

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4. B, Cand Eonly
Options :
71087043745. 1
71087043746. 2
71087043747. 3
71087043748. 4



Question Number : 17 Question Id : 71087010978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

DT uRaw # Fgifed 7 € D19 91 yaf faenf &1 Ud =1 411 §H1e
A. I Taditd g &1 &l

B. AHBZUI

C. Aqaly B gl

D. HaTH® fdepie

E. 9 Haelt fasd

F. GO U&l @] JU&T &l

el f[dded &l 994 B ;

1. #dd A, B AR C
2. hdd B, C3RD
3. $Had D, E3RF
4, &dd B, CARE
Options :
71087043745. 1
71087043746, 2
71087043747. 3
71087043748, 4

Question Number : 18 Question Id : 71087010979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Pedagogy and social interaction are two major areas of activity of teachers
Reason R: It is communication that is crucial for making both the activities important

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043749. 1

71087043750. 2

71087043751. 3

71087043752. 4

Question Number : 18 Question Id : 71087010979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR FY RU T E . UF B 3fUHUT (a) 3R T B db (R) Hel T e :

YA (A) : TRI&® & & UHE D1 38 © - & AR DI TSR aul YIS il
R) : 31 GIHI &1 @I Hew@qul 81 eq YN 3dd Hew@qy &l

IRE BYHl & el H Fdifdd el # 3 Faifte 3uged 3w g :

1. (A) 3R (R) GHT TEI € 3IR (R), (A) B! Hel RS 8

2. (A) 3R (R) THT Hal § 3R (R), (A) BT HE! SIRSAT 75l &
3. (A) U8 § U= (R) TTeid g

4. (A) T 8 I (R) TR1 &1



Options :

71087043749. 1
71087043750. 2
71087043751. 3
71087043752. 4

Question Number : 19 Question Id : 71087010980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 1l

Types of listeners Characteristics

A. Poor listeners . Scare others

B. Aggressive listeners . Easily agree with the speaker

. Passive listeners I1l. Listen to ideas, but no emotions behind
D. Pseudo-intellectual IV. Fidget repeatedly

Choose the correct answer from the options given below:

TA-LB-1I,C-1,D-1IV
ZA-1,B-NIL,C-1V,D-I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-1LC-II,D-1
Options :

71087043753. 1
71087043754. 2
71087043755.3
71087043756. 4

Question Number : 19 Question Id : 71087010980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Teil-1 B Gai-1l & 9y Gaferd DI -
| -1l

yiars dUPR  [fa=uay

A AP YA LRI DISAdE
B. THH® il |11 9ad1 T U GgHd ol old &

B S 11, fIaRl &1 Yau & g clid- 35 Bls 419 el
| Bidl

D?-EWW V. SR 39¢ 9HE

frafafad faseal | ¥ ¥gl Sox giHu -

TA-LB-1I,C-1IIL,D-1IV
2ZA-1IL,B-N,C-1V,D-I
3A-IILB-IV,C-1,D-1I
4 A-IV,B-LC-II,D-1I
Options :

71087043753. 1
71087043754. 2
71087043755.3
71087043756. 4

Question Number : 20 Question Id : 71087010981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the following educational communication ventures

in India

A. Krishi Darshan

B. Gyan Darshan

C. Vyas

D. Gyan Vani

Choose the correct answer from the options given below

1. A BCD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087043757. 1
71087043758. 2
71087043759. 3
71087043760. 4

Question Number : 20 Question Id : 71087010981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRd H Aferd T8N0 IumHl & GaH H HEifed & ¥ 98! dIa-uR $4 95U :
A. I8 G
B. M &=

C.aM
D. 4§t
d feu T1u fadedl ¥ 981 IR 9T

1. A BCD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087043757. 1
71087043758. 2
71087043759. 3
71087043760. 4

Question Number : 21 Question Id : 71087010982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference of the square of two consecutive even numbers is 84. What is the sum of these
two consecutive even numbers?

1. 34
2. 38
3. 36
4.42
Options :



71087043761. 1
71087043762. 2
71087043763. 3
71087043764. 4

Question Number : 21 Question Id : 71087010982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& HH® 90 =13 & g7 &1 3 84 €1 T &H| H1a® U TEa1s{ S aFT a1 g ?

1. 34

2. 38

3. 36

4.42

Options :
71087043761. 1
71087043762. 2
71087043763. 3
71087043764. 4

Question Number : 22 Question Id : 71087010983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
0,8, 24,48, __

1.72

2. 96

3.120

4. 80

Options :
71087043765. 1



71087043766. 2
71087043767. 3
71087043768. 4

Question Number : 22 Question Id : 71087010983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafaRad sie g d eFTd 3i® ®I Ugd BT
0,8, 24,48, ___

1.72

2. 96

3.120

4. 80

Options :
71087043765. 1
71087043766. 2
71087043767. 3
71087043768. 4

Question Number : 23 Question Id : 71087010984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mr X is 40 years old and Mr Y is 60 years old. How many years ago was the ratio of their ages
3:57

1. 15 years
2. 10 years
3. 20 years
4, 30 years
Options :



71087043769. 1
71087043770. 2
71087043771. 3
71087043772. 4

Question Number : 23 Question Id : 71087010984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fERE X 1 3 40 T4 & 3R fiRex v @1 3 60 Y 1 [5d- a8 Ugd 39 &1 DI 31 B 391 3
5 YI?

1.15 34
2.10 34
3.20 94
4,30 94
Options :
71087043769. 1
71087043770 2
71087043771. 3
71087043772 4

Question Number : 24 Question Id : 71087010985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a river from a fixed location, two identical boats start moving up-stream and down-stream,
respectively. The speed of the water current in the river is 3km/hour. If the speed of each of
the boats in still water is 15km/hour, the separation between the boats after 12 minutes will be

1. 3.6 km
2. 5.6 km
3. 6.0 km
4. 7.2 km



Options :

71087043773. 1
71087043774. 2
71087043775. 3
71087043776. 4

Question Number : 24 Question Id : 71087010985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl 1E1 # U i3 =M 9 & o $HRE 98 & URT & fausid SR 781 B 4R B 3R TH
Bl ¢ | AR @1 71d 3 [l /der g1 afe 39 aFf Aiarsil § U ud® e & g R Sa
15 fob A/ ©e1 8 dl 12 BT & ugiq aiFf Arored & s o gl gril -

1. 3.6 T AT,

2. 5.6 T Hl.

3. 6.0 T Al
4, 7.2 fo .
Options :
71087043773. 1
71087043774. 2
71087043775. 3
71087043776. 4

Question Number : 25 Question Id : 71087010986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following letter series and identify the next term
ace, thj, kmo,

1. npr

2. rtv

3. prt

4. uwy
Options :
71087043777. 1
71087043778. 2
71087043779. 3
71087043780. 4

Question Number : 25 Question Id : 71087010986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafdiiad auf - A W IR BT 3R 3T Ug $i UgaH Hield ;
ace, thj, kmo, ____

1. npr

2. rtv

3. prt

4, uwy
Options :
71087043777. 1
71087043778. 2
71087043779. 3
71087043780. 4

Question Number : 26 Question Id : 71087010987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 11
Theories Philosophers
A. Episteme and Doxa . Aristotle

B. Potential and Actual being Il. Hegel

C. Vyavaharika and Parmarthik lIl. Sankara

D. Rational and Actual IV. Plato

Choose the correct answer from the options given below:

TA-LB-1I,C-1IIL,D-1IV
2ZA-1IL,B-N,C-1V,D-I
3A-ILB-IV,C-1I,D-1
4 A-IV,B-LC-lILD-1
Options :

71087043781. 1
71087043782. 2
71087043783. 3
71087043784. 4

Question Number : 26 Question Id : 71087010987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l

Fgid MHEIEED
A. IO qur Ste . 3R]
5. ¥Ud Ud IRad® wiig RIS
C. A9l Ud URArda 11 =T
D. difdhds Ud aRdidd V. el
e fou e fadedl O Uel fddey U :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-1I,D-1
4A-IVB-I,C-1,D-1
Options :
71087043781. 1
71087043782. 2
71087043783. 3
71087043784. 4

Question Number : 27 Question Id : 71087010988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What type of cognition is beyond the ambit of perception?

1. Anumiti

2. Upamiti

3. Nirvikalpaka pratyaksha
4. Savikarpaka pratyaksha
Options :

71087043785. 1



71087043786. 2
71087043787. 3
71087043788. 4

Question Number : 27 Question Id : 71087010988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U0 & Gk § W gifed 3 9 S19-91 ATHHH A e 2
“gfeiad o U uel [dse ﬂﬁfl :

1. A

2. JufAfd

3. Ffd®s g uas
4, Gidpcad T
Options :
71087043785. 1
71087043786. 2
71087043787. 3
71087043788 4

Question Number : 28 Question Id : 71087010989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Golden mountain is fiery because it is smoky'
Which type of fallacy is committed by the above inference?

1. Asraya siddhi

2. Svarapa siddhi

3. Vyapyatva siddhi
4. Savyabhichara



Options :

71087043789. 1
71087043790. 2
71087043791. 3
71087043792. 4

Question Number : 28 Question Id : 71087010989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e Udd Y g Fifds 98 YHdH & 39 3-aH § hH-91 galHE § ?

1. YT
2. awy fafg
3. AIAG
4. GANER
Options :
71087043789. 1
71087043790. 2
71087043791 3
71087043792. 4

Question Number : 29 Question Id : 71087010990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a proposition which is particular affirmative,

1. Subject term is distributed but the predicate is not distributed
2. Neither the subject nor the predicate is distributed

3. Both subject and predicate are distributed

4. Subject is undistributed but predicate is distributed

Options :

71087043793. 1



71087043794. 2
71087043795. 3
71087043796. 4

Question Number : 29 Question Id : 71087010990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ferd aebaray fored fasiy RduEaa el €, 98 & -

1. IR0 UT fgaRd Bid1 § IR 48 faaRa i gl &1
2. 35X IR {99 § 15 1 fadia 981 giar 2|

3. 3529 3R gy gl faaRa sid B

4. 357 f3dRd 781 B1d1 & W] 399 fadid gl g1
Options :

71087043793. 1

71087043794. 2

71087043795. 3

71087043796. 4

Question Number : 30 Question Id : 71087010991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Concepts Schools

4. Abhava . Jainism

B. Anupalabdhi Il. Buddhism
C. Apoha lIl. Vedanta
D. Syadavada IV. Nyaya

Choose the correct answer from the options given below:

TA-ILBE-N,C-1,D-1V
2ZA-ILB-IV,C-1I,D-1
SA-IVB-IL,C-I1L,D-1
4 A-LB-ILC-1V,D-1l
Options :

71087043797. 1
71087043798. 2
71087043799. 3
71087043800. 4

Question Number : 30 Question Id : 71087010991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l
SGYRUM quary
A, YT G
B. 3Udied . ¥l
C. U8 I, deid
D. Wedig V. T
e fau e fasedl ©f @ U8l IR gHU:

TA-ILE-N,C-1,D-1V
ZA-ILB-IV,C-II,D-1
SA-IV,B-ULC-ILD-1
4 A-1L,B-ILC-1V,D-1l

Options :

71087043797. 1
71087043798. 2
71087043799. 3
71087043800. 4

Sub-Section Number : 4
Sub-Section Id : 710870318
Question Shuffling Allowed : Yes

Question Id : 71087010992 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Study the data table and answer the questions that follow

The following table shows the maximum marks of each subject inside the bracket and
percentage of marks obtained by seven students in six different subjects in the exam

Computer
Student/Subject science |Chemistry Physics/Geography HistoryMath
(150) (130) (120) (100) (50) | (40)
Piyush 90 50 90 60 70 80
Gaurav 100 80 80 40 80 70
Mayank 90 60 70 70 90 70
Vimal 80 65 80 80 60 60
Vikas 80 65 85 95 50 90
Varun 70 75 65 85 40 60
Ashish 65 35 50 77 80 80

Sub questions

Question Number : 31 Question Id : 71087010993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the average percentage of marks (%) obtained by all the seven students in Physics?

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14



Options :

71087043801. 1
71087043802. 2
71087043803. 3
71087043804. 4

Question Number : 32 Question Id : 71087010994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who obtained 60% and above marks in all subject is:

1. 4

2.5

3.2

4.1

Options :
71087043805. 1
71087043806. 2
71087043807. 3
71087043808. 4

Question Number : 33 Question Id : 71087010995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What are the aggregate of marks obtained by Mayank in all the six subjects?

1. 432

2. 456

3. 460

4. 440
Options :
71087043809. 1



71087043810. 2
71087043811. 3
71087043812. 4

Question Number : 34 Question Id : 71087010996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject is the overall percentage the best?

1. Computer Science
2. Chemistry

3. Math

4. Physics

Options :
71087043813. 1
71087043814. 2
71087043815. 3
71087043816. 4

Question Number : 35 Question Id : 71087010997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the overall percentage of Ashish?

1. 54%

2. 68%

3. 59.66%
4.63%
Options :
71087043817. 1
71087043818. 2
71087043819. 3
71087043820. 4



Question Id : 71087010992 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension

frafafEa aifve vde fug & oo oie! B Fge # o wian ¥ o Afis ot § 9w
BT gRT U 5T 7T 3T &1 ufdwd guiat & :

He fagH | TR | ifddt |y | sfaera | afrd

EIENACLE]
(150) (130) (120) | (100) | (50) | (40)
Uiy 90 50 9 | 60 | 70 | 80
g 100 80 80 | 40 | 80 | 70
Ad® 90 60 70 70 90 | 70
[CEG 80 65 80 | 80 | 60 | 60
faarg 80 65 85 95 | 50 | 90
G| 70 75 65 | 85 | 40 | 60
3Ry 65 35 50 | 77 | 80 | 80

Sub questions

Question Number : 31 Question Id : 71087010993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it Ora faential gro difldet & urg i 7Y 3frgd ofd () F e ¢

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14
Options :
71087043801. 1
71087043802. 2
71087043803. 3
71087043804. 4

Question Number : 32 Question Id : 71087010994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ol faudl 7 60% 3R 3TH A4S 3id UId H a1 Sl I =T 1§ ?

1. 4

2.5

3.2

4.1

Options :
71087043805. 1
71087043806. 2
71087043807. 3
71087043808. 4

Question Number : 33 Question Id : 71087010995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wid & 94! B¢ faudl & o UIdie g ?

1. 432

2. 456

3. 460

4. 440
Options :
71087043809. 1
71087043810. 2
71087043811. 3
71087043812. 4

Question Number : 34 Question Id : 71087010996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&g fovg § urdie! &1 999 ufaeiddr 9aiH &2

1. PR fagH
2. YHOA Td
3. TTford

4. Hifdet
Options :
71087043813. 1
71087043814. 2
71087043815. 3
71087043816. 4

Question Number : 35 Question Id : 71087010997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1Y &1 99y ufaed fdar g 2

1. 54 %

2. 68 %

3. 59.66 %
4.63 %
Options :
71087043817. 1
71087043818. 2
71087043819. 3
71087043820. 4

Sub-Section Number : 5
Sub-Section Id : 710870319
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation ISP?

1. International Service Provider
2. Internet Service Provider

3. Internet Software Provider

4, Internet Service Product
Options :

71087043821. 1

71087043822.2

71087043823. 3

71087043824. 4

Question Number : 36 Question Id : 71087010998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
"3T3 UY Ul Tiad Ug S R EU 13 2

1. 3T 9igd Uidrga
2. 3e¢e gidg Uiags

3. 32 U dmR HlaEa
4, 32 gidg Uisae
Options :

71087043821. 1
71087043822. 2
71087043823. 3
71087043824. 4

Question Number : 37 Question Id : 71087010999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name for a web page address?

1. Directory

2. Folder

3. Domain

4. URL
Options :
71087043825. 1
71087043826. 2
71087043827. 3
71087043828. 4

Question Number : 37 Question Id : 71087010999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d9 N USH o U AH |18 7

1. STl

2. BieaR

3. SiEA

4. g SN Ud
Options :
71087043825. 1
71087043826. 2
71087043827. 3
71087043828. 4

Question Number : 38 Question Id : 71087011000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Privacy and security of user data is at stake on the Internet

Reason R: No steps are being taken by the user for the security and privacy of data

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043829. 1

71087043830. 2

71087043831. 3

71087043832. 4



Question Number : 38 Question Id : 71087011000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RS RUTUE . 1@ &1 ey (4) IR TR B 06 (R) I T E
HTUBYT (A) : Fe3e W SIE WG @1 (ofar 3R qR&f &ld W el 8l

dd (R) : WAIET GRI SIE1 &1 QR&T 3R Fodl g Bl WO el U o I8 2|
SRE HYHI & S | FHifed el | J el Juged Itk 44

1. (A) 3R (R) G WE1 € 3MR (R), (A) BT F1 ARATE |

2. (A) 3R (R) GHT TET § 3R (R), (A) BT T ARAT TeT &
3. (A) W61 & I (R) W1 TE1 &

4. (A) TET TR € R (R) WET 2

Options :

71087043829. 1

71087043830. 2

71087043831. 3

71087043832. 4

Question Number : 39 Question Id : 71087011001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a system software?

1. Compiler

2. Operating System

3. Application Software
4. Editor

Options :

71087043833. 1



71087043834. 2
71087043835. 3
71087043836. 4

Question Number : 39 Question Id : 71087011001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e & 9 o-ar ey giedm 98 & 2

1. PUGTR

2. AR ieq

3. Ui Hiteddy
4, g

Options :
71087043833. 1
71087043834. 2
71087043835. 3
71087043836. 4

Question Number : 40 Question Id : 71087011002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is excluded from the domain of Artificial Intelligence?

1. Computer Vision
2. Machine Learning
3. Deep Learning

4. Text

Options :
71087043837. 1
71087043838. 2
71087043839. 3



71087043840. 4

Question Number : 40 Question Id : 71087011002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeied 3 4 oH-T1 S gl (nféihREgd fiefea) & sHT v aEi s ?

1. YR fau
2. {Ei afT
3. St

4. ¢
Options :
71087043837. 1
71087043838. 2
71087043839. 3
71087043840. 4

Question Number : 41 Question Id : 71087011003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Millennium Development Goals?
A. Eradicating extreme poverty and hunger

B. Improving maternal health

C. Addressing climate change

D. Promoting gender equity and empowerment of women

E. Ensuring energy security for all

Choose the correct answer from the options given below:

1. A, B, Cand D only
2.A,C DandE only
3AB,CDandE

4. A, B and D only
Options :
71087043841. 1
71087043842. 2
71087043843. 3
71087043844. 4

Question Number : 41 Question Id : 71087011003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hedles] fary ed Fafif@d d e dE 2

A, Scdfdd FEHar iR 4@ &1 S BT

B. {1J W H YR oH

C. Sciarg giRkac- daedt FH1EH ST

D. T UM AR Afeal 9RIfdamu &I g1l oAl
£, 9T & foTe SHoil GRam gHfEd &

i U 7Y faheul # 9 U5l STk &1 99 Dol -

1. B9 A, B, C3IR D
2. PAdA, C, DIARE
3.A, B, C D3RE

4. HIdA BIARD
Options :
71087043841, 1
71087043842. 2
71087043843, 3
71087043844, 4

Question Number : 42 Question Id : 71087011004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of energy sources in terms of their heat of combustion in
increasing order

A. Methane

B. Natural fats and oils

C. Dry wood

D. Green wood

Choose the correct answer from the options given below

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087043845.
71087043846.
71087043847.
71087043848.

AW O~

Question Number : 42 Question Id : 71087011004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofafad ol idl @ aed o1 & dad | 370 9al 3Rie! % i g dIvi ;
A, HiUT

B. UTpidd adl 3R dd

C. b DI

D. §Rd @18
fafaiad faeedl 5 9 98l I g -

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087043845.
71087043846.
71087043847.
71087043848.

AW O~

Question Number : 43 Question Id : 71087011005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Polluted rivers with very high values of Biological Oxygen Demand (BOD) may
produce a foul smell

Reason R: Anaerobic bacteria produce sulphur dioxide and oxides of nitrogen

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043849. 1

71087043850. 2

71087043851. 3

71087043852. 4

Question Number : 43 Question Id : 71087011005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
HBU (a) - Sfa® Siadior A7 @ 2 SY) B HH! 3w T ardl Ugud Jaal o g M1dl g
dd (R) : "TRIfdD daIRAT bR SRHS AR Ao b HFRISS Ual dd 6|
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬂ?(mr (A) BT eI SRS ol o

3. (A) W81 & U (R) W1 T8 |

4. (A) W8l Tl & U (R) T&I B

Options :

71087043849. 1

71087043850. 2

71087043851. 3
71087043852. 4

Question Number : 44 Question Id : 71087011006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



High hazard wastes may contain

A. Pathogens

B. Radioactive wastes

C. Non-reactive substances

D. Corrosive substances

Choose the correct answer from the options given below

1. A, B and D only
2.A B, CandD

3. B and D only

4. A Band Conly
Options :
71087043853. 1
71087043854. 2
71087043855. 3
71087043856. 4

Question Number : 44 Question Id : 71087011006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHfee WD SHUTIPT # A 61 Ibd & -

A. QYIS

B. S afiuldea Uiy

C. sfdish g yard

D. H&fReb ugrd

i f&u U faeedl # @ Uel I &1 98- B -
1.®ad A, B AR D

2. A, B, C3HRD

3. Had B 3R D
4, HIAA, B AR C
Options :
71087043853. 1
71087043854. 2
71087043855. 3
71087043856. 4

Question Number : 45 Question Id : 71087011007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In case of which of the following primary pollutants, the man-made contributions to global
emissions (million tonnes per year) is more compared to that from natural sources?

1. Sulphur dioxide
2. Nitric oxide

3. Methane

4. Carbon dioxide
Options :



71087043857. 1
71087043858. 2
71087043859. 3
71087043860. 4

Question Number : 45 Question Id : 71087011007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafeiaa o O forg mruftie ugue & A o dfde® I (Ufd ay e eq) & ded |
Udidd Gidl @1 qa-l § 34 o (301 B IRTGH SHiU® & ?

1. TR SOHIES
2. AI3feh AHHZS
3. die

4. PET SHFES
Options :
71087043857. 1
71087043858. 2
71087043859. 3
71087043860. 4

Question Number : 46 Question Id : 71087011008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the Universities named below, correspondence courses were initiated in 19627

1. University of Madras
2. University of Bombay
3. University of Calcutta
4. University of Delhi
Options :

71087043861. 1



71087043862. 2
71087043863. 3
71087043864. 4

Question Number : 46 Question Id : 71087011008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiad 5 O fow fayfaererd 5 ad 1962 H THHR UTdshA| & YA S T3 Ui ?

1. 29 fayfdereg

2. 9rgs fayfdeey

3. Sodl [ayfaey
4, feeit fayfaeneg
Options :
71087043861. 1
71087043862. 2
71087043863 3
71087043864. 4

Question Number : 47 Question Id : 71087011009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in feudal society of Europe
were classified under trivium?

A. Geometry

B. Astronomy

C. Grammar

D. Logic

E. Rhetoric

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087043865. 1
71087043866. 2
71087043867. 3
71087043868. 4

Question Number : 47 Question Id : 71087011009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PRY & Y GA H I TR W IaRdw) e & FHgfaRad J 9 i1 3¢ - &5 ol efean &
3{cid aefided o 71T T -

A. ST

3. e faie

C. B

D. Teh

E. O HRIARE

i f&u U faeedl # @ Uel I &1 98- B -

1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087043865 1
71087043866. 2
71087043867. 3
71087043868. 4

Question Number : 48 Question Id : 71087011010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following categories of colleges is primarily intended for creating work ready
manpower on a large scale?

1. Autonomous college
2. Community college
3. Agriculture college
4. Technical college
Options :

71087043869. 1
71087043870. 2
71087043871. 3
71087043872. 4

Question Number : 48 Question Id : 71087011010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRad 5 9 feg 9ol & Aegriaenadl & WuiEe I539 Au® UAH | B 8q d9R SHRIG
1 A ST ECIE 2

1. WO Helfddreg
2. g™ Hglfaecy
3. P HeIidee™
GG AR HIFEIRE
Options :
71087043869. 1
71087043870. 2
71087043871. 3
71087043872. 4

Question Number : 49 Question Id : 71087011011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Synchronous communication takes place through which of the following technologies?
A. Video chat

B. Virtual classrooms

C. Audio conferencing

D.Wikis

E. Electronic mail

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087043873. 1
71087043874. 2
71087043875. 3
71087043876. 4

Question Number : 49 Question Id : 71087011011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g & ¥ fog deif@t & A 9§ gasiias Siuo 9fed il s 2
A. ditsgl e

B. STHTHT BHET

C. 3HITET BB

D. fafdg

. 3Igel® Ha

fFafaiad el 5 9 98l ST g4 ;

1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, HIAD, E AR A
Options :
71087043873. 1
71087043874. 2
71087043875. 3
71087043876. 4

Question Number : 50 Question Id : 71087011012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Levels of academic freedom in higher/Concerns at their levels
education institutions

. Democratic functioning in the higher education
A. Personal level system and believing each individual worthy of
attention

ll. Standard of behaviour and ethics we adopt

B. Professional level
and develop for ourselves

o l1l. Values which influence and cushion the
C. Institutional level , . ,
operation of higher education

V. Exercising personal and professional values
D. Societal level within the concept of the higher education
institution

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IV,C-1I,D-1
4A-LB-ILC-1ILD-1V
Options :

71087043877. 1
71087043878. 2
71087043879. 3
71087043880. 4

Question Number : 50 Question Id : 71087011012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdi-1 H 3= &0 Geurell § sfdreifdm wWaadl & W) ®f aul Idi-1l § 39d Yat of g2 gl
i1 DI Gall-11l & Ty GHferd Hifere :

gal-| -1l
A, Sifadd |1 3= F21e Uuliell § diedite SHeRU R Udd 9aH
LS fdd DI &Fdl H [3yrg &1

°- 1. R GRT 303 R S0TT o aret 3R s Rid e s

W' E gIel geR 3R Afddd &I TR

;q 1. 3 I8 & URETeH @ gHIidd SR Yo §9HaId Jed

D. G |Iv. 3= RI&T W13l Bt GURUN H sfaaird R suaaiiasd
TR el &l deR H Tl
Fafaiad Aol § ¥ 98 S 4 -

T.A-IV,B-1I,C-1,D-1
2ZA-1,B-1,C-1V,D-1I
3A-ILB-IV,C-1I,D-1
4 A-1L,B-II,LC-1I,D-1V
Options :

71087043877. 1
71087043878. 2
71087043879. 3
71087043880. 4

PART II Philosophy
Section Id : 710870256
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870320
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087011013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In Vedic tradition, the controlling power of the cosmos is:

1. Isvara
Brahman

Rta

A

Brahmda

o=

Options :

71087043881. 1
71087043882. 2
71087043883. 3
71087043884. 4

Question Number : 51 Question Id : 71087011013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



3fG® WA © dgvs @i Hdar Tiad §

1. 39
2. il
3.3d
4. oell

Options :

71087043881. 1
71087043882. 2
71087043883. 3
71087043884. 4

Question Number : 52 Question Id : 71087011014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one among the following is NOT a mark of a sat hetu in Nyaya epistemology?

1. Paksasattva

2. Sapaksa sattva

3. Vipaksa sattva

4. Abadhita visayatva

Options :

71087043885. 1
71087043886. 2
71087043887. 3
71087043888. 4

Question Number : 52 Question Id : 71087011014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afeRad 5 © ©F <1g 94 HHe 5 90 g ®1 98U T8 6 ?

1. G&Ed
2. U&Hd
3. f[duérga
4, AEIEd [duga

Options :

71087043885. 1
71087043886. 2
71087043887. 3
71087043888. 4

Question Number : 53 Question Id : 71087011015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In Nyaya epistemology, we perceive by samanyalaksana sannikarsa :

1. A particular instance of fire
2. Some instances of fire

3. Fireness

4. All the instances of fire

Options :

71087043889. 1
71087043890. 2
71087043891. 3
71087043892. 4

Question Number : 53 Question Id : 71087011015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



=TT - H EH Eas Sy & gRI U S §

1. 3 31 [G2W ge-1 31
2. 30 B P g Bl
3. U &I

4. 3% 31 gt genafi @

Options :

71087043889. 1
71087043890. 2
71087043891. 3
71087043892. 4

Question Number : 54 Question Id : 71087011016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Select the code correctly matched in terms of magnitude (Parimana) of dravyas in Vaisesika
metaphysics :

1. Akasa , kala , atma
2. Akasa, kala, manas
3. Kala, parmanu, dik
4. Manas, atma, dik

Options :

71087043893. 1
71087043894. 2
71087043895. 3
71087043896. 4

Question Number : 54 Question Id : 71087011016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



RIfte Ta-Hiaar & gaat & afvam & de & 08! @e o 994 Bifod -

1. HTGHTRI, BT, ST
2. TP, BT, TG

3. @Id, T, fod
4. 749, A1, 6P

Options :

71087043893. 1
71087043894. 2
71087043895. 3
71087043896. 4

Question Number : 55 Question Id : 71087011017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In Vedic tradition, yajfia is performed for the benefit of :

1. Devata
2. Rsis

3. Rtvika

4. Yajmana

Options :

71087043897. 1
71087043898. 2
71087043899. 3
71087043900. 4

Question Number : 55 Question Id : 71087011017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e R A Pas aH & e gy fearwar g 2

1. Gadl
2. By
3. Bicdd
4, goH

Options :

71087043897. 1
71087043898. 2
71087043899. 3
71087043900. 4

Question Number : 56 Question Id : 71087011018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one in Jaina metaphysics is NOT an gjiva dravya?

1. Akasa

2. Sthavara
3. Pudgala
4. Dharma

Options :

71087043901. 1
71087043902. 2
71087043903. 3
71087043904. 4

Question Number : 56 Question Id : 71087011018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HIPE
2. gl

3. g
4, 4H

Options :

71087043901. 1
71087043902. 2
71087043903. 3
71087043904. 4

Question Number : 57 Question Id : 71087011019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: God does not suffer
Reason R: God lacks body
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :
71087043905. 1
71087043906. 2



71087043907. 3
71087043908. 4

Question Number : 57 Question Id : 71087011019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I gl &Y 60 T 81 U &l AHSHYA (A) IR GO &l 9@ (R) Bel M1 6 :

HUHYT (A) : TR gERMRRA B
R) : 3% IR Aed Bl
Sudad Byl & fadie | Fyfiaiad § € w8l [ded gRT

1. (A) 3R (R) GHFT TE1 & AR (R), (A) BT Tel ARAT B
2. (A) AR (R) GHI T&l & 3R (R), (A) DI Te! AR T8l &
3. (A) T8l § 3R (R) TTaid B

4. (A) TTeTd 8 3R (R) U818

Options :

71087043905. 1

71087043906. 2

71087043907. 3
71087043908. 4

_(A) 3R (R
AR (R
el

Question Number : 58 Question Id : 71087011020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who holds that, a shade of blue colour and the knowledge of it is one and the same thing?

1. Vasubandhu
2. Nagarjuna

3. Kumarila

4. Prasastapada

Options :

71087043909. 1
71087043910. 2
71087043911. 3
71087043912. 4

Question Number : 58 Question Id : 71087011020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
% ! [GeR & & i 31 &1 T SR ST IA TE 81 8 -

1. 9g9Y

2. AFTISH
3. PHMA
4. URRGUTg

Options :

71087043909. 1
71087043910. 2
71087043911. 3
71087043912. 4

Question Number : 59 Question Id : 71087011021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Dialogue regarding 'Sreyas and Preyas’ was held between

1. Prajapati and Indra

2. Virochan and Prajapati
3. Yama and Nachiketa

4. Yajfiavalkya and Maitreyi

Options :

71087043913. 1
71087043914. 2
71087043915. 3
71087043916. 4

Question Number : 59 Question Id : 71087011021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I AR UG & Yoy H [ eh srd Hdlg g1 41 7

1. UAOfd R 25
2. fa¥i= 3R uwiafd
3. O 3R Afdbal
4. Taedd R T

Options :

71087043913. 1
71087043914. 2
71087043915. 3
71087043916. 4

Question Number : 60 Question Id : 71087011022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is false regarding "Aparva’?

1. Apdrva can sustain the world

2. Aparva is the link between the act and its fruit
3. Aparva is the causal potency in the act

4. Aparva is produced in the soul of the agent

Options :

71087043917. 1
71087043918. 2
71087043919. 3
71087043920. 4

Question Number : 60 Question Id : 71087011022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"HYd' & ey H FRREed 5 @ g ©

1. HYd SITd &I UTeH SR Jdl e

2. 3qd BH AR HHGd & did DI Bol ol
3. 3qd 4 | [Afgd s 2|

4. {Ud ®dl Bl A H A el g

Options :

71087043917. 1
71087043918. 2
71087043919. 3
71087043920. 4

Question Number : 61 Question Id : 71087011023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fire is cold because it is a substance. Which type of fallacy is committed by the above

inference?

1. Savyabhicdra
2. Visuddha

3. Asiddha

4. Badhita

Options :

71087043921. 1
71087043922. 2
71087043923. 3
71087043924. 4

Question Number : 61 Question Id : 71087011023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
3 381 & Hifd U8 5 ¢
SUad 7HH J {0 UHR d1 M 82

1. JAHAR
2. faeg
3. Mg
4, d1fed

Options :

71087043921. 1
71087043922. 2
71087043923. 3
71087043924. 4



Question Number : 62 Question Id : 71087011024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following upheld the view that a smaller present-good is not to be preferred
to a greater future good?

1. Sidgwick
2. Hobbes

3. Spencer

4. Kant

Options :

71087043925. 1
71087043926. 2
71087043927. 3
71087043928. 4

Question Number : 62 Question Id : 71087011024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g Rufeiad o U foud ouH § i Hiaw & 93 Y &1 qa1 § gadH Si¢ Y S adigdl Ial
&1 ST 91ge ?

1. fafea®
2. Bled
3. TR
4, I

Options :

71087043925. 1
71087043926. 2
71087043927. 3



71087043928. 4

Question Number : 63 Question Id : 71087011025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The view that the law is made for the sake of man not for the sake of law, is upheld by:

1. Kant

2. Mackenzie
3. Jacobi

4, Spencer

Options :

71087043929. 1
71087043930. 2
71087043931. 3
71087043932. 4

Question Number : 63 Question Id : 71087011025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g fhhdh! 1d & & &I Aigd o [ s & A [ S & fag 7

1. BI0E
2. Bdoolt
3. Wipidl
4, T

Options :

71087043929. 1
71087043930. 2
71087043931. 3
71087043932. 4



Question Number : 64 Question Id : 71087011026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following holds the view that Science is literal thought, but Philosophy is

symbolic thinking?

1. J. Krishnamurti

2. M. N. Roy

3. K. C. Bhattacharya
4, Maulana Azad

Options :

71087043933. 1
71087043934. 2
71087043935. 3
71087043936. 4

Question Number : 64 Question Id : 71087011026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g fh gl [daR ¢ o fa3H Tifte® f9aR 8, IRg a3 UdidTde a8 ?

1. 9. pUHd
2. UH. T1.3™
3. &4 Wera™
4. I HISTE

Options :

71087043933. 1
71087043934. 2
71087043935. 3
71087043936. 4




Question Number : 65 Question Id : 71087011027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following codes states the virtues which are NOT consistent with Brahmana

Varna?

1. Tranquillity, Austerities
2. Purity, Forgiveness

3. Sense control, Wisdom
4. Heroism, Sovereignity

Options :

71087043937. 1
71087043938. 2
71087043939. 3
71087043940. 4

Question Number : 65 Question Id : 71087011027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a1 3uf & ey o FHgfaiad & O ®F-9 70 Wi 8 ?
1. U=, ¥9H9

2. YT, &M

3. 3f2g A, fada

4, 9o AR QYUY

Options :

71087043937. 1
71087043938. 2
71087043939. 3
71087043940. 4



Question Number : 66 Question Id : 71087011028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following assertions is false?

1. A false proposition implies any proposition whatsoever

2. A true proposition is implied by any proposition whatsoever
3. A propositional function is either true or false

4. Singular proposition does not require instantiation

Options :

71087043941. 1
71087043942. 2
71087043943. 3
71087043944. 4

Question Number : 66 Question Id : 71087011028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FafaRad ¥ $1H-91 &Y= 380 5 ?

1. 39T ddhaidd &1 AU oI5 1 dhaiad g1

2. 9 dodrgd & AU $is U dhdiad 8l

3. debaTadTd Uadld U 31Ydl A0 3l 9l 2|

4. Udhd dbardd T eVididvl &l fddd] Jal aidl el

Options :

71087043941. 1
71087043942. 2
71087043943. 3
71087043944. 4




Question Number : 67 Question Id : 71087011029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following assertions is false?

1. "~ (negation) is a binary truth-functional operator
2. 'Inductive leap’ makes the conclusion of an inductive argument probable
3. Boolean interpretation accepts only the contradictory square of opposition of propositions

4. Truth-table is a decision procedure.

Options :

71087043945. 1
71087043946. 2
71087043947. 3
71087043948. 4

Question Number : 67 Question Id : 71087011029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafad A 4 o - AT Sy Hd g ?

1.~ (FNY) U fgoR 9l o Hihar g1

2. " HFFH-Wd (Sfded oY) fadl SEHTES do & by Sl Hd &-dl B
3. oIl SRl dhdd dbaidd! & faiUTHRil fadiy o & WidR &l gl

4. g1 9Rl U Fda ufhar g

Options :

71087043945. 1
71087043946. 2
71087043947. 3
71087043948. 4

Question Number : 68 Question Id : 71087011030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which one of the following is the correct symbolic representation of the sentence below:
We shall swim even if it rains
[ where W = We shall swim and R = it rains]

1.LR>S
2. S 5(RV~R)
3.(Rv~R) 2 S
A4 (R~R)>S

Options :

71087043949. 1
71087043950. 2
71087043951. 3
71087043952. 4

Question Number : 68 Question Id : 71087011030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fou U argg &1 Hafalied § € oF 981 UdieTds e & 2
e guf ot gFfl, e oft g1 o
[W =BH d¥il; R = G891 gl |

Options :

71087043949. 1
71087043950. 2
71087043951. 3
71087043952. 4

Question Number : 69 Question Id : 71087011031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following issues do not directly pertain to the domain of Medical ethics?
A. Consent to treatment and duty to treat

B. Truth-telling

C. Paternalism

D. Confidentiality

E. Advertising of medical drugs and other medical products

Choose the correct answer from the options given below:

1. A, B, D and E only
2. A, CandE only
3.3ABCDandE
4. A, B, Cand D only

Options :

71087043953. 1
71087043954. 2
71087043955. 3
71087043956. 4

Question Number : 69 Question Id : 71087011031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FrafefEa & 9 o Rfea Afed @ 99 &g 18 g 2
ASTER & foE ¥gAfd 3R SU9R & dddA
8. g el

C. Toqafd
D.ATO=gal

e, Fafc qarsit 3iR o e Sael &1 A=

1. BadA, B, D, E
2. BaAA A, C 3R E
3. ®AUA, B, C, DIRE
4. HAAA, B, C, D

Options :

71087043953. 1
71087043954. 2
71087043955. 3
71087043956. 4

Question Number : 70 Question Id : 71087011032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is true according to Hume?

1. A statement is true if it is verifiable.

2. Only knowledge concerning the matters of fact is impossible.
3. Metaphysical statements are meaningless.

4. Casual relation is based on constant conjunction.

Options :



71087043957. 1
71087043958. 2
71087043959. 3
71087043960. 4

Question Number : 70 Question Id : 71087011032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

20 & S9R AR f S oa sy T 8 7

1. ®Y U ¢ 3¢ 98 9dIu-1g g

2. TURTd IH SR 5 |

3. daHHIEE HYF AUEH B

4, HRUA Y94 Tdd HaFT U= 41T 5|

Options :

71087043957. 1
71087043958. 2
71087043959. 3
71087043960. 4

Question Number : 71 Question Id : 71087011033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who holds the view that 'All knowledge is, knowledge through concepts'?

1. Anaximander
2. Anaximenes
3. Protagoras
4. Socrates

Options :
71087043961. 1



71087043962. 2
71087043963. 3
71087043964. 4

Question Number : 71 Question Id : 71087011033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt I IS &1 U6 padl fGar & 2

1. TfGH=
2. THFATET
3. UIEFTRE

4. Pld

Options :

71087043961. 1
71087043962. 2
71087043963. 3
71087043964. 4

Question Number : 72 Question Id : 71087011034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Matter is something, | know not what'.
This view is attributed to which one of the following?

1. Berkeley and Descartes
2. Spinoza and David Hume
3. Locke only

4. Descartes and Locke

Options :



71087043965. 1
71087043966. 2
71087043967. 3
71087043968. 4

Question Number : 72 Question Id : 71087011034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"G BB g, dicod A1 &, H ol oi-d
yifaied H U 08 [Gua fGar & ¢

1. 9tbdl 3R SHILY

2. e AR Sfas ggH
3. ad il

4. SHIC AR AP

Options :

71087043965. 1
71087043966. 2
71087043967. 3
71087043968. 4

Question Number : 73 Question Id : 71087011035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is Aristotle’s correct description of God?

1. Pure matter and pure potentiality.
2. Pure matter and pure actuality.

3. Pure form and pure actuality.

4. Pure form and pure potentiality.



Options :

71087043969. 1
71087043970. 2
71087043971. 3
71087043972. 4

Question Number : 73 Question Id : 71087011035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R B GaY 7 IREJ BT Uo| [ARU AT & ?

1. YG 50 3R g GHIH

2. s god 3R Y& drdidddl
3. Y[ SMBR 3R G dRdiddal
4. Y[G AR AR Y& YHTdI

Options :

71087043969. 1
71087043970. 2
71087043971. 3
71087043972. 4

Question Number : 74 Question Id : 71087011036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is acceptable to David Hume?

1. Causality is a category of human understanding.

2. Causality is a form of uniformity of nature.

3. Causality is a necessary relation between cause and effect.
4. Causality is merely a habit of mind.

Options :
71087043973. 1



71087043974. 2
71087043975. 3
71087043976. 4

Question Number : 74 Question Id : 71087011036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fffed A Y Sic e Eied § 7

1. PRI HHAIEG §f& $ U I B

2. SR W dd UhEUd] &l Uh UHR 5|

3. RO BRA R ®M & did TP g a4 g
4. RO AHGT 74 &1 316d 6l

Options :

71087043973. 1
71087043974. 2
71087043975. 3
71087043976. 4

Question Number : 75 Question Id : 71087011037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the followings is compatible with Spinoza's philosophy?

1. Agnosticism
2. Atheism

3. Pantheism
4. Theism

Options :
71087043977. 1
71087043978. 2



71087043979. 3
71087043980. 4

Question Number : 75 Question Id : 71087011037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fofad s g e R cEa s 91d g 2

1. HITATG
2. 3-iYRde
3. gayan
4. 391G

Options :

71087043977. 1
71087043978. 2
71087043979. 3
71087043980. 4

Question Number : 76 Question Id : 71087011038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Those philosophers who subscribe to the view that the silver that appears in a shell is neither

real nor unreal?

1. Visistadvaitins
2. Sunyavadins
3. Sarhkhyas

4. Advaitins
Options :

71087043981. 1
71087043982. 2



71087043983. 3
71087043984. 4

Question Number : 76 Question Id : 71087011038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frafafaa 7 9 fog qRifAe &1 g8 7d © & ag 9idl o Iid # o4 gl g, A df dafd® &
3R A ARaa® ?

(NGIEI R
2. Jarel

3. gieg

4, Hegd

Options :

71087043981. 1
71087043982. 2
71087043983. 3
71087043984. 4

Question Number : 77 Question Id : 71087011039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who are the philosophers who hold that cloth is something new, created out of threads?

1. Advaitins

2. Mimamsakas
3. Naiyayikas
4. Samkhyans

Options :
71087043985. 1



71087043986. 2
71087043987. 3
71087043988. 4

Question Number : 77 Question Id : 71087011039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

98 BH-U GRIF® & Sl I AFd & [ dg I FMfid ue po Ta1g 2

4, g

Options :

71087043985. 1
71087043986. 2
71087043987. 3
71087043988. 4

Question Number : 78 Question Id : 71087011040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The philosophical phrase: ‘Identity of indiscernibles’ is associated with

1. Locke

2. Leibnitz

3. Descartes

4, David Hume

Options :
71087043989. 1



71087043990. 2
71087043991. 3
71087043992. 4

Question Number : 78 Question Id : 71087011040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SR UT 3T &1 diared Feikiiad 3 4 ey He6fed 2 2

1. AP
PRCIHE

3. SO

4. sfdsggn

Options :

71087043989. 1
71087043990. 2
71087043991. 3
71087043992. 4

Question Number : 79 Question Id : 71087011041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to which system, the right way to Kaivalya is Purusa-prakrti viveka jAdgna?

1. Parva-Mimamsa
2. Nydya

3. Samkhya

4, Vaisesika

Options :
71087043993. 1



71087043994. 2
71087043995. 3
71087043996. 4

Question Number : 79 Question Id : 71087011041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt J9R $acd &1 Ird AR J3Y-Udhid & [dd® JH & ?

1. qd T
2. 9™

3. 9]
4, J9If®

Options :

71087043993. 1
71087043994. 2
71087043995. 3
71087043996. 4

Question Number : 80 Question Id : 71087011042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Jaina epistemology, the knowledge of past, subtle and distant object is called:

1. Mati
2. Kevala
3. Sruta
4, Avadhi

Options :
71087043997. 1
71087043998. 2



71087043999. 3
71087044000. 4

Question Number : 80 Question Id : 71087011042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
oI IHE-HIEE H Y, Y& 3R 3% IEgH! &1 71 Sedidl &

1. 9fd
2. Had

3. 8d
4, 3dfY

Options :

71087043997. 1
71087043998. 2
71087043999. 3
71087044000. 4

Question Number : 81 Question Id : 71087011043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is incompatible with the views of Sartre?

1. Morality is objective.
2. The meaning of life depends on the life we build up.
3. Reflective consciousness can be treated as moral consciousness.

4. Man is responsible for his actions.

Options :

71087044001. 1
71087044002. 2
71087044003. 3



71087044004. 4

Question Number : 81 Question Id : 71087011043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafcied + 9 oH 96 & fGuR & 3RTd 8 2

1. Afdddl T%FTd B

2. oitg @1 3 R @l 8, 5191 89 WiigH &1 &

3. far=IiE® oo & Afd® 9971 & 9 § WIeR [dal o 96dl o
4. A% 30+ BT & [0 SuRaM gl

Options :

71087044001. 1
71087044002. 2
71087044003. 3
71087044004. 4

Question Number : 82 Question Id : 71087011044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is incorrect with reference to Wittgenstein?

1. Private language is not possible.

2. Don't ask for the meaning, but better to ask for the use of language.

3. Just like there are different language games; there are different forms of life.
4. Religion is a faith based on the existence of God.

Options :

71087044005. 1
71087044006. 2
71087044007. 3
71087044008. 4



Question Number : 82 Question Id : 71087011044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044005. 1
71087044006. 2
71087044007. 3
71087044008. 4

Question Number : 83 Question Id : 71087011045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is incompatible with the views of Quine?

1. Ontology is relative.
2. There is no role of dogmas in philosophy.
3. Traditional epistemology is the foundation of naturalized epistemology.

4. Translation is always indeterminate.

Options :

71087044009. 1
71087044010. 2
71087044011. 3
71087044012. 4



Question Number : 83 Question Id : 71087011045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FIE & [G9R ¥ T [GHed 1 99 DiTold

1. T TUfES 5

2. ¥ | goufa & &5 == T8 6

3. URAIR® FH-HEE Tefas 31 diara ot fia g
4. 3dTG Hed HHiEd giar g

Options :

71087044009. 1
71087044010. 2
71087044011. 3
71087044012. 4

Question Number : 84 Question Id : 71087011046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following involves Category mistake according to G.Ryle?

1. The cat is on the chair.

2. The child of a barren woman.

3. The University of Delhi contains various departments.
4. Saturday is on the bed.

Options :

71087044013. 1
71087044014. 2
71087044015. 3
71087044016. 4



Question Number : 84 Question Id : 71087011046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044013. 1
71087044014. 2
71087044015. 3
71087044016. 4

Question Number : 85 Question Id : 71087011047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify which one of the following goes against Frege?

1. The term 'sense’ means 'mode of presentation’.

2. Thought is neither physical, nor mental; it is something else.
3. Frege's semantics is based on concept-notation.

4. Thought is at par with Idea.

Options :

71087044017. 1
71087044018. 2
71087044019. 3
71087044020. 4

Question Number : 85 Question Id : 71087011047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

71087044017. 1
71087044018. 2
71087044019. 3
71087044020. 4

Question Number : 86 Question Id : 71087011048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Bhatta Mimamsakas advocate which one of the following theories?

1. Anvitabhidhana vada
2. Abhihitanvaya vada
3. Apohavada

4. Sphotavada

Options :

71087044021. 1
71087044022. 2
71087044023. 3
71087044024. 4

Question Number : 86 Question Id : 71087011048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

71087044021. 1
71087044022. 2
71087044023. 3
71087044024. 4

Question Number : 87 Question Id : 71087011049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following statements refers to the coherence theory of truth?

1. A proposition is true if it conforms to fact.

2. A proposition is true if it results in success.

3. A proposition is true if it does not contradict the accepted proposition.
4. A proposition is true or false by virtue of its own structure.

Options :

71087044025. 1
71087044026. 2
71087044027. 3
71087044028. 4

Question Number : 87 Question Id : 71087011049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

71087044025. 1
71087044026. 2
71087044027. 3
71087044028. 4

Question Number : 88 Question Id : 71087011050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who holds the view that 'Man without society is either a beast or a god'?

1. Russell

2. Marx

3. John Locke
4, Aristotle

Options :

71087044029. 1
71087044030. 2
71087044031. 3
71087044032. 4

Question Number : 88 Question Id : 71087011050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044029. 1
71087044030. 2

71087044031. 3
71087044032. 4

Question Number : 89 Question Id : 71087011051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is acceptable to David Hume?

1. Sensationalism

2. Parallelism of Mind and Matter
3. Materialism

4. Spiritualism

Options :

71087044033. 1
71087044034. 2
71087044035. 3
71087044036. 4

Question Number : 89 Question Id : 71087011051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044033. 1
71087044034. 2
71087044035. 3
71087044036. 4

Question Number : 90 Question Id : 71087011052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following doctrines is incompatible with Spinoza?

1. Parallelism of attributes
2. Pre-established harmony
3. Determinism

4, Natura - Naturans

Options :

71087044037. 1
71087044038. 2
71087044039. 3
71087044040. 4

Question Number : 90 Question Id : 71087011052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044037. 1
71087044038. 2

71087044039. 3
71087044040. 4

Question Number : 91 Question Id : 71087011053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Nyaya epistemology, we perceive by tactual sense-organ all the objects which we
perceive by the visual sense-organ, except;

A. Sparsatva

B. Rapatva

C. Rapa

D. Sparsa

Choose the correct answer from the options given below:

1. A only
2. B and A only
3. C only
4. B and C only

Options :

71087044041. 1
71087044042. 2
71087044043. 3
71087044044. 4

Question Number : 91 Question Id : 71087011053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A
2. Had B AR A
3. ®adC
4. HAAB 3R C

Options :

71087044041. 1
71087044042. 2
71087044043. 3
71087044044. 4

Question Number : 92 Question Id : 71087011054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the Nyaya epistemology, we can perceive external substances by:
A. Visual sense-organ

B. Tactual sense-organ

C. Internal sense-organ

D. Gustatory sense-organ

Choose the correct answer from the options given below:

1. A only
2. B only
3. A and B only
4. B and C only

Options :

71087044045. 1
71087044046. 2
71087044047. 3
71087044048. 4

Question Number : 92 Question Id : 71087011054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A
2. ®Had B
3. HaAd A AR B
4. HAAB 3R C

Options :

71087044045. 1
71087044046. 2
71087044047. 3
71087044048. 4

Question Number : 93 Question Id : 71087011055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are some conditions of anumiti in accordance with the Nyaya epistemology.
Select the code which states the conditions where anumiti (inference) is NOT possible?

A. The absence of will to infer accompanied by siddhi.

B. The absence of will to infer accompanied by the absence of siddhi.
C. The presence of will to infer accompanied by siddh.

D. The presence of will to infer accompanied by the absence of siddhi.
Choose the correct answer from the options given below:

1. A only

2. A and B only
3. A and C only
4. B and C only

Options :

71087044049. 1
71087044050. 2
71087044051. 3
71087044052 4

Question Number : 93 Question Id : 71087011055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A

2. Had A AR B
3. @A A AR C
4. HAAB 3R C

Options :

71087044049. 1
71087044050. 2
71087044051. 3
71087044052 4

Question Number : 94 Question Id : 71087011056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sakti according to Nyaya is:

A. Isvareccha

B. lcchamadtra

C. A Vrtti

D. A separate padartha

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 A B CandD

Options :

71087044053. 1
71087044054. 2
71087044055. 3
71087044056. 4

Question Number : 94 Question Id : 71087011056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044053. 1
71087044054. 2
71087044055. 3
71087044056. 4

Question Number : 95 Question Id : 71087011057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following admits both jivanmukti and videhamukti?
A. Buddha

B. Sankara

C. Ramanuja

D. Madhava

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly

4. A, B, Cand D only

Options :

71087044057. 1
71087044058. 2
71087044059. 3
71087044060. 4

Question Number : 95 Question Id : 71087011057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044057. 1
71087044058. 2
71087044059. 3
71087044060. 4

Question Number : 96 Question Id : 71087011058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following combinations are the trinity principles espoused by Dr. Ambedkar?
A. Liberty, Equality and Truth

B. Liberty, Fraternity and Peace

C. Liberty, Equality, and Fraternity

D. Liberty, Fraternity and Solidarity

Choose the correct answer from the options given below:

1. A only
2. D only
3. B only
4. C only

Options :

71087044061. 1
71087044062. 2
71087044063. 3
71087044064. 4

Question Number : 96 Question Id : 71087011058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A
2. ®ad D
3. ®ad B
4. %adC

Options :

71087044061. 1
71087044062. 2
71087044063. 3
71087044064. 4

Question Number : 97 Question Id : 71087011059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following propositions are compatible with Thales?
A. Air is the fundamental source of the universe.

B. Number is the fundamental source of the Universe.

C. Water is the fundamental source of the Universe.

D. Earth is a flat disc that floats on water.

Choose the correct answer from the options given below:

1. A only
2. B only
3. B and D only
4. Cand D only

Options :

71087044065. 1
71087044066. 2
71087044067. 3
71087044068. 4

Question Number : 97 Question Id : 71087011059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FEfeiad oua 5 9 &F 91 4 & WId g ?
A. SEIUS &I JoiHd did dig 8|
B. SRITUS o] Heryd Fid T B

C. SRIUS & Heiyd Hid o o |
D. Jedl HUTe & Sl Uil W ol B

1. Had A
2. ®Had B
3. @AA B AR D
4. %ad C AR D

Options :

71087044065. 1
71087044066. 2
71087044067. 3
71087044068. 4

Question Number : 98 Question Id : 71087011060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following propositions are acceptable to Berkeley?
A. Perceived entities exist

B. Unperceived entities exist

C. Self is but the substratum of a bundle of sensations

D. Matter invariably exists

Choose the correct answer from the options given below:

1. B only
2. D only
3.B and C only
4. A and C only

Options :

71087044069. 1
71087044070. 2
71087044071. 3
71087044072. 4

Question Number : 98 Question Id : 71087011060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044069. 1
71087044070. 2
71087044071. 3
71087044072. 4

Question Number : 99 Question Id : 71087011061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following propositions are NOT acceptable to Heraclitus?
A. Being consists of nothing but Being.

B. One cannot step into the river twice.

C. Being passes into Not-Being and Not-Being into Being

D. Apeiron is the fundamental stuff of the universe.

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. A and D only

Options :

71087044073. 1
71087044074. 2
71087044075. 3
71087044076. 4

Question Number : 99 Question Id : 71087011061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. ®Had B AR D
3. @A A AR C
4. FAAA AR D

Options :

71087044073. 1
71087044074. 2
71087044075. 3
71087044076. 4

Question Number : 100 Question Id : 71087011062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the stages of Subjectivity according to K. C. Bhattacharya?
A. Bodily

B. Psychic

C. Spiritual

D.Biological

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A, Band Conly
4. B, Cand D only

Options :

71087044077. 1
71087044078. 2
71087044079. 3
71087044080. 4

Question Number : 100 Question Id : 71087011062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. @A A, B AR C
4. HadA B, C AR D

Options :

71087044077. 1
71087044078. 2
71087044079. 3
71087044080. 4

Question Number : 101 Question Id : 71087011063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is correct?

A. Gandhi is the author of Sadhana.

B. Sri Aurobindo is the author of Personality.

C. Radhakrishnan is the author of Freedom and Culture.

D. Tagore is the author of Dhammapada.

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only

Options :

71087044081. 1
71087044082. 2
71087044083. 3
71087044084. 4

Question Number : 101 Question Id : 71087011063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044081. 1
71087044082. 2
71087044083. 3
71087044084. 4

Question Number : 102 Question Id : 71087011064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Anupalabdhi is an independent Pramana that is advocated by which philosopher?
A. Prabhakara

B. Sarkara

C. Ramanuja and Madhva

D. Kumarila

Choose the correct answer from the options given below:

1. A only
2. C only
3. A and C only
4. B and D only

Options :

71087044085. 1
71087044086. 2
71087044087. 3
71087044088. 4

Question Number : 102 Question Id : 71087011064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A
2. ®ad C
3. @A A AR C
4. HaAB 3R D

Options :

71087044085. 1
71087044086. 2
71087044087. 3
71087044088. 4

Question Number : 103 Question Id : 71087011065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Reason grows into revelation and the two are not opposed to each other’
Who among the following totally rejects this view?

A. F.H. Bradley

B. St Thomas Aquinas

C. St Augustine

D. Henri Bergson

Choose the correct answer from the options given below:

1. A and D only
2. A and B only
3.B and C only
4. D only

Options :

71087044089. 1
71087044090. 2
71087044091. 3
71087044092. 4

Question Number : 103 Question Id : 71087011065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A AR D
2. Had A AR B
3. ®HaAAB AR C
4. Had D

Options :

71087044089. 1
71087044090. 2
71087044091. 3
71087044092. 4

Question Number : 104 Question Id : 71087011066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A real proper name is singular, placed only in the subject position of a subject-predicate
proposition and it stands for an object. Who holds this view?

AL Mill

B. Russell

C. Frege

D. Wittgenstein

Choose the correct answer from the options given below:

1. A only
2. B only
3. A and B only
4. B and C only

Options :

71087044093. 1
71087044094. 2
71087044095. 3
71087044096. 4

Question Number : 104 Question Id : 71087011066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



aRaid® dgiadd 19 Uhad- oidl &, ®dl [94d Jioil H ad ddl & H U IGT 91dl & 3R T8
®H & [0 UgE Bial o | 8 [hadl Ad ¢ 7

A |
B. TUd
C.

D. faci=eTz .
- fgu e fd@real & 9 el Sw g

1. Had A
2. ®Had B
3. HaAd A AR B
4. HAAB 3R C

Options :

71087044093. 1
71087044094. 2
71087044095. 3
71087044096. 4

Question Number : 105 Question Id : 71087011067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to whom since ordinary language is ambiguous, ideal, or artificial, language needs
to be formulated for showing the relationship between language and reality?

A. Russell

B. Frege

C. Austin

D. Ryle

Choose the correct answer from the options given below:

1. A only

2. A and D only
3. A and C only
4. A and B only

Options :

71087044097. 1
71087044098. 2
71087044099. 3
71087044100. 4

Question Number : 105 Question Id : 71087011067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forads AR dfth =g {1 S0y off, 16T U4 arafddar § UeY UERId & & oy e
3{aT F/aC] HTHT 411 ofH @1 Sa<gadl & 7

A THT
B. Tl
C. 3T

D. Algd

- fgu e fd@real & 9 el Sw g
1. &ad A

2. PAAA R D

3. HaU A 3R C
4, Had A 3R B

Options :

71087044097. 1
71087044098. 2
71087044099. 3
71087044100. 4

Question Number : 106 Question Id : 71087011068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is NOT true according to Aristotle?

1. Form and matter are relative in terms.
2. Matter is potentiality, form is actuality.
3. Formless matter exists.
4. Matterless form is real.



Options :

71087044101. 1
71087044102. 2
71087044103. 3
71087044104. 4

Question Number : 106 Question Id : 71087011068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFofafead oyl & 9 & 91 3R & 3F9R 98l 7ol 6 ;

1. PR Td Fod HUE® 5|

2. o4 GUIAd &, ATHR I dd ol
3. MPRIIed 5 Haw@aH g

4, GERied HTHR IRAAE B

Options :

71087044101. 1
71087044102. 2
71087044103. 3
71087044104. 4

Question Number : 107 Question Id : 71087011069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is compatible with Plato's views?

1. Ideas are not real but existent.

2. Ideas are real but existent.

3. Ideas are doubtful but existent.

4. |deas are doubtful but non-existent.

Options :



71087044105. 1
71087044106. 2
71087044107. 3
71087044108. 4

Question Number : 107 Question Id : 71087011069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wil & 3R FyfaRed ¥ 4 o 9 g

1. Uy i 81 § foog 3if&icaar ¢
2. U aIifdd & =g Af&i@dq &

3. U9y Hiery ¢ fibg officaa &

4. Uy Hfery € fopeg 3 SHfRefeqa €

Options :

71087044105. 1
71087044106. 2
71087044107. 3
71087044108. 4

Question Number : 108 Question Id : 71087011070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Mohammad Igbal, which of the following are true of humans?
A. Humans are instantiated from a universal super-ego.

B. Humans have evolved from a Universal intellect.

C. Humans are divinely created.

D. Humans have evolved from Spirit.

E. Humans have evolved from matter.

Choose the correct answer from the options given below:

1. A and B only
2. B, Cand D only
3.Cand E only
4. A and D only

Options :

71087044109. 1
71087044110. 2
71087044111. 3
71087044112. 4

Question Number : 108 Question Id : 71087011070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAB,C AR D
3. ®ad C 3R E
4. HAAA AR D

Options :

71087044109. 1
71087044110. 2
71087044111. 3
71087044112. 4

Question Number : 109 Question Id : 71087011071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following thinkers maintains that freedom lies in pure observation?

1. Jiddu Krishnamurty
2. Sri Aurbindo

3. Narayan Guru

4. Radhakrishnan

Options :

71087044113. 1
71087044114. 2
71087044115. 3
71087044116. 4

Question Number : 109 Question Id : 71087011071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafad faare! 4 9 fege 9= & & Wdad s vam d Ffgdsidie 2

1. 9IGg PO
2. 91 3RfE=<

3. AR &
4, JUTHIH

Options :

71087044113. 1
71087044114. 2
71087044115. 3
71087044116. 4

Question Number : 110 Question Id : 71087011072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



J L Austin makes a distinction between which of the following speech acts?
A. Protocutionary

B. Locutionary

C. lllocutionary

D. Mislocutionary

E. Perlocutionary

Choose the correct answer from the options given below:

1.C, D and E only
2. B, C and E only
3. A, B and D only
4. A, Cand D only

Options :

71087044117. 1
71087044118. 2
71087044119. 3
71087044120. 4

Question Number : 110 Question Id : 71087011072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. Sffcaa oH
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1.HadC, D AR E
2. ®HadAB, C 3R E
3. ®AA A, BIARD
4. HAAA, C3RD

Options :

71087044117. 1
71087044118. 2
71087044119. 3
71087044120. 4

Question Number : 111 Question Id : 71087011073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The field of Applied Ethics concerning the conflict between the interest of stakeholders and
the interests of stockholder most appropriately pertains to:

1. Business Ethics

2. Bio-ethics

3. Media-ethics

4. Ethics of Technology

Options :

71087044121. 1
71087044122.2
71087044123. 3
71087044124. 4

Question Number : 111 Question Id : 71087011073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
feanfeal & fedl 3R WIHURE & odl @ coid 4 dltd o uant HIflavra & &7 Jaifis
IR ¥ U fhay 4eiid g -

1. IS o=
2. wig A

3. Hifgar Fifaemd

4, Uit Hifaema

Options :

71087044121. 1
71087044122. 2
71087044123. 3
71087044124. 4

Question Number : 112 Question Id : 71087011074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Charles Taylor makes a distinction between which of the following?
A. Politics of dignity

B. Politics of difference

C. Politics of gender

D. Politics of entitlement

E. Politics of distribution

Choose the correct answer from the options given below:

1. D and E only
2. A and B only
3.Cand E only
4. A and D only

Options :

71087044125. 1
71087044126. 2
71087044127. 3
71087044128. 4

Question Number : 112 Question Id : 71087011074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. e eI
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1. $ad D AR E
2. Had A AR B
3. ®ad C 3R E
4. HAAA AR D

Options :

71087044125. 1
71087044126. 2
71087044127. 3
71087044128. 4

Question Number : 113 Question Id : 71087011075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The ethical claim in business ethics that deceptive advertising is wrong because deceiving
others is disrespectful to them and uses them as mere means, pertains to:

1. Kant's deontological ethics
2. Virtue ethics

3. Rule-utilitarianism

4, Act-utilitarianism

Options :

71087044129. 1
71087044130. 2
71087044131. 3
71087044132. 4

Question Number : 113 Question Id : 71087011075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gD Dl &1 Jg Jfdd ardl fhad Y6iid ¢ o YHe (9319 Tad § difd ga’l &1 67Hl
30 Tl oS & 3R WYTaE & 0 F 3961 SO 3 -

1. Bic DI BalAuE Afddmdr
2. 701 B A

3. fH - Jugifidmarg

4. & - IUYIFdEg

Options :

71087044129. 1
71087044130. 2
71087044131.3
71087044132. 4

Question Number : 114 Question Id : 71087011076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

The question regarding what might constitute criteria necessary for personhood is most

central with reference to:

1. Abortion

2. Active Euthanasia
3. Passive Euthanasia
4. Eugenics

Options :

71087044133. 1
71087044134. 2
71087044135. 3
71087044136. 4

Question Number : 114 Question Id : 71087011076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044133. 1
71087044134. 2
71087044135.3
71087044136. 4



Question Number : 115 Question Id : 71087011077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the ethics of Technology, the notion that technology is only an instrument, the good or bad
use of which depends on its users and technology is not good or bad in itself, is known as:

1. User's dilemma

2. Dichotomy of the doer and deed
3. Neutrality thesis

4. Ethics of instrumentality

Options :

71087044137. 1
71087044138. 2
71087044139. 3
71087044140. 4

Question Number : 115 Question Id : 71087011077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
UERTS! &1 Afadd] [ Weifie! Ue 91eq 41 ¢ ordT 3=sT 91 931 SUdRT 39d WRdis )
MR sare  Efe! - 3u H B AR T8l ¢ ; g U o o1l & ?

1. TGl &1 68
2. Tl 3R B @ fgHeH
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4, GIeAREd] &1 Hidddl

Options :

71087044137. 1
71087044138. 2
71087044139. 3
71087044140. 4



Question Number : 116 Question Id : 71087011078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List 11
A. Veda . Fire burns out of its own nature
B. Carvaka |l Fire burns because of rta

ll. Fire burns because of its burning power

C. Mimarisak
AT dahika gakti) which is a separate padartha

D. Vaisesika |IV. Fire is a physical substance

Choose the correct answer from the options given below:

T.A-IIL,LB-IV,C-1I,D-|
ZA-ILB-1L,C-II,D-1IV
SA-LB-1IL,C-1V,D-1I
4 A-IV,B-IILC-1,D -1

Options :

71087044141. 1
71087044142. 2
71087044143. 3
71087044144. 4

Question Number : 116 Question Id : 71087011078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| Tql-Il
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- feu T1u fasedl ¥ 981 IR gHU:

T.A-IIL,B-IV,C-1I,D-|
ZA-ILB-1LC-1I,D-IV
SA-LB-1IL,C-1V,D-1
4 A-IVB-IILC-1,D -1

Options :

71087044141. 1
71087044142.2
71087044143. 3
71087044144. 4

Question Number : 117 Question Id : 71087011079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. JAatatavada . Prabhékara
B. Triputipratyaksavada  |ll. Kumarila
C. Dvaitavada 1. Madhva
D. Bhedanbhedavada V. Nimbarka

Choose the correct answer from the options given below:

TA-II,B-1L,C-1,D-1IV
ZA-1LB-1L,C-N,D-1V
SA-ILB-ULC-1,D-1V
4 A-1LB-ILC-1,D-IV

Options :

71087044145. 1
71087044146. 2
71087044147. 3
71087044148. 4

Question Number : 117 Question Id : 71087011079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-II,B-1L,C-1,D-1IV
ZA-1LB-1L,C-N,D-1V
SA-LB-U,C-1,D-IV
4 A-1LB-ILC-1,D-IV

Options :

71087044145. 1
71087044146. 2
71087044147. 3
71087044148. 4

Question Number : 118 Question Id : 71087011080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. The state of nature was one in which there were no l. Locke
enforceable criteria of right and wrong

B. The state of nature was one in which the rights of life |ll.Rousseau
and property were generally recognized under natural
law

C. In the state of nature, humans were unwarlike and
. . . : Ill. Hobbes
somewhat undeveloped in their reasoning, morality and

responsibility

D. Justice consists of the basic principles of government |IV. John Rawls
that free and rational individuals would agree to in a

hypothetical situation perfect equality

Choose the correct answer from the options given below:

TA-ILB-N,C-1,D-1IV
ZA-ILB-ILC-1,D-1V
SA-LB-U,C-1,D-IV
4 A-1ILB-1,C-1LD-1IV

Options :

71087044149. 1
71087044150. 2
71087044151. 3
71087044152. 4

Question Number : 118 Question Id : 71087011080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-N,C-1,D-1IV
ZA-ILB-ILC-1,D-1V
SA-LB-U,C-1,D-IV
4 A-1ILB-1,C-1LD-1IV

Options :

71087044149. 1
71087044150. 2
71087044151. 3
71087044152. 4

Question Number : 119 Question Id : 71087011081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Bheda dhikkdra . Madhva

B. Bheda satakra II. Sankara

C. Acintyabhedabheda lIl. Ramanuja

D. Aprthak Siddhi V. Chaitanya- Baladeva

Choose the correct answer from the options given below:

TA-LB-1,C-1,D-1V
ZA-II,B-1,C-IV,D-1l
SA-IV,B-UILC-1L,D-1
4 A-1LB-IV,C-1I,D -1

Options :

71087044153. 1
71087044154. 2
71087044155. 3
71087044156. 4

Question Number : 119 Question Id : 71087011081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1,D-1V
ZA-II,B-1,C-IV,D-1l
SA-IV,B-UILC-1L,D-1
4 A-1LB-IV,C-1I,D -1

Options :

71087044153. 1
71087044154. 2
71087044155. 3
71087044156. 4

Question Number : 120 Question Id : 71087011082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Samkara . JAagna-Karma-Samucchayavada
B. Ramanuja l. Jn@fa and jAdna alone

C. Madhva Il. Pusti Marga

D. Vallabha V. Nirmala Bhakti

Choose the correct answer from the options given below:

TA-LB-1,C-1,D-1V
ZA-ILB-1L,C-1V,D-1lI
SA-IV,B-ILC-11,D-1
4 A-1LB-IV,C-1,D-1l

Options :

71087044157. 1
71087044158. 2
71087044159. 3
71087044160. 4

Question Number : 120 Question Id : 71087011082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1,D-1V
ZA-ILB-1L,C-1V,D-1lI
SA-IV,B-ILC-11,D-1
4 A-1LB-IV,C-1,D-1l

Options :

71087044157. 1
71087044158. 2
71087044159. 3
71087044160. 4

Question Number : 121 Question Id : 71087011083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Subjective idealism .. Bosanquet
B. Realism Il. Berkeley
C. Objective Idealism Il. Kant

D. Critical philosophy IV. Locke

Choose the correct answer from the options given below:

T.A-ILB-IV,C-1,D-1
ZA-IV,B-ILC-1,D-I
SA-LB-1IL,C-1V,D-1
4 A-1ILB-ILC-1,D-1IV

Options :

71087044161. 1
71087044162. 2
71087044163. 3
71087044164. 4

Question Number : 121 Question Id : 71087011083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-ILB-IV,C-1,D-1
ZA-IV,B-ILC-1,D-I
SA-LB-1IL,C-1V,D-1
4 A-1ILB-ILC-1,D-1IV

Options :

71087044161. 1
71087044162. 2
71087044163. 3
71087044164. 4

Question Number : 122 Question Id : 71087011084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Leucippus and Democritus|l. The City of God

B. St. Augustine Il. Five proofs for the existence of God
C. St. Thomas Aquinas lll. Ontological Argument
D. St. Anselm IV. Atomic theory

Choose the correct answer from the options given below:

TA-ILB-U,C-1IV,D-I
ZA-IV,B-1,C-I,D-1I
SA-ILB-ULC-1,D-1V
4 A-LB-ILC-1,D-1IV

Options :

71087044165. 1
71087044166. 2
71087044167. 3
71087044168. 4

Question Number : 122 Question Id : 71087011084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-U,C-1IV,D-I
ZA-IV,B-1,C-I,D-1I
SA-ILB-ULC-1,D-1V
4 A-LB-ILC-1,D-1IV

Options :

71087044165. 1
71087044166. 2
71087044167. 3
71087044168. 4

Question Number : 123 Question Id : 71087011085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Tagore . One must work like master and not like slave.

B. Igbal Il. What is spoken must be in the first instance believed
C. Vivekananda lIl. The world for me is both individual and universal

D. K.C. Bhattacharya |IV. Body is accumulated action or habit of the self

Choose the correct answer from the options given below:

TA-ILB-N,C-1,D-1IV
ZA-IILB-IV,C-I,D-1
SA-IV,B-LC-II,D-1
4 A-1L,B-ILC-1V,D-1l

Options :

71087044169. 1
71087044170. 2
71087044171. 3
71087044172. 4

Question Number : 123 Question Id : 71087011085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| ql-1l

A, SR |, 1Teid Bl aie w1 &l dlied &Y &l e el

B. SHATA 1. ST TeT 71T 911 &, 39 R UuHd: Gy fdar 9 91igy
cfaa@rg 11, T forg 99 Jufdas <R 9duiE e e

D. &4l HEEE |Iv. IR Giad &4 g8 ¥ Bl Hed 8|

- feu T1u fasedl ¥ 981 IR gHU:

TA-ILB-N,C-1,D-1IV
ZA-IILB-IV,C-I,D-1
SA-IV,B-LC-II,D-1
4 A-1L,B-ILC-1V,D-1l

Options :

71087044169. 1
71087044170. 2
71087044171. 3
71087044172. 4

Question Number : 124 Question Id : 71087011086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A p=q L(p-g)-r
B.~(p>q) L{p2r)-(gq>or)
Cp-(q-r) .p-qg v(~p-~q)
D.(pvg)or V.p-~q

Choose the correct answer from the options given below:

TA-ILB-1L,C-1,D-1IV
ZA-II,B-IV,C-1,D-1l
SA-LB-U,C-IV,D-1
4 A-1LB-IV,C-1,D-1l

Options :

71087044173. 1
71087044174. 2
71087044175. 3
71087044176. 4

Question Number : 124 Question Id : 71087011086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 -1l
A p=g L{(p-q)-r
B.~(p>q) L{p2r)-(gq>or)
Cp-(q-r) .p-qgg v(~p-~q)
D.(pvg)or V.p-~q
T TaT U et & @ 981 IR g

TA-ILB-1L,C-1,D-1IV
ZA-II,B-IV,C-1,D-1l
SA-LB-U,C-IV,D-1
4 A-1LB-IV,C-1,D-1l

Options :

71087044173. 1
71087044174. 2
71087044175. 3
71087044176. 4

Question Number : 125 Question Id : 71087011087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A Vivekananda l. Creation is the 'Lild' of the creator

B. K.C. Bhattacharya |Il. Reality is one but not a ‘whole’

C. Tagore lIl. Philosophy is the self-evident elaboration of the self-evident

D. Igbal IV. Intuitive experience is knowing by being

Choose the correct answer from the options given below:

TA-1LB-1I,C-1V,D-1l
ZA-IV,B-1LC-1II,D-1
SA-ILB-ULC-1,D-1V
4 A-1LB-1,C-IV,D-1l

Options :

71087044177. 1
71087044178. 2
71087044179. 3
71087044180. 4

Question Number : 125 Question Id : 71087011087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdl-1 B i1l D Ty GHd DI :

- i1

afagsre | g TS dar e

B. & 414z 1. U U §, UReg 9eu el

C. R 1. GRH Wa: Ty B Wa: [agd e &
D. SHaT V. 3T: USRS T 98] gl o T &
- feu T foweal © € 98 S gAY

TA-1LB-1I,C-1V,D-1l
ZA-IV,B-1LC-1II,D-1
SA-ILB-ULC-1,D-1V
4 A-1LB-1,C-IV,D-1l

Options :

71087044177. 1
71087044178. 2
71087044179. 3
71087044180. 4

Question Number : 126 Question Id : 71087011088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the correct sequence for yoga Samadhi
A. Sananda

B. Sasmita

C. Savitarka

D. Savicara

Choose the correct answer from the options given below

1.A B CD
2C D B A
3.C D AB
4B, C DA

Options :

71087044181. 1
71087044182.2
71087044183. 3
71087044184. 4

Question Number : 126 Question Id : 71087011088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i1 FHIY | FET 2HH I -

A G

B. T

C. giddd

D. HfddaR

i U e fadeal # 9 w8l 3w gy -

1.A B CD
2C D B A
3.C D AB
4B, C DA

Options :

71087044181.
71087044182.
71087044183.
71087044184.

AW N =

Question Number : 127 Question Id : 71087011089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the correct sequence with reference to Buddhism
A.Nama - rapa

B. Shadayatana

C. VijAidgna

D. Vedana

E. Spars

Choose the correct answer from the options given below

1.A B D CE
2CABED
3.C,BDEA
4 A D CEBE

Options :

71087044185. 1
71087044186. 2
71087044187. 3
71087044188. 4

Question Number : 127 Question Id : 71087011089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dlsuH & Udid GHAIG & IR HH O FHgHl @, 4gH & Ty I8l H H 904 DI
A AT - §U

B. USHITH

c. fagm

D. A&l

£ Tl

i fiu e fawedt & 9 9l S i -

1.A,B,D,CE

2.C,A BED

3.C,B,DEA
4. A, D CBEE

Options :

71087044185. 1
71087044186. 2
71087044187. 3
71087044188. 4

Question Number : 128 Question Id : 71087011090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the correct sequence with reference to yoga system.
A. Niyama

B. Pranayama

C.Yama

D. Asana

E. Pratyahara

Choose the correct answer from the options given below

1.A B DEC
2CDEAB
3.CADGEBE
4 CAEBD

Options :

71087044189. 1
71087044190. 2
71087044191. 3
71087044192. 4

Question Number : 128 Question Id : 71087011090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g1 18 & SaH | el 3 H gHT

A FH

B. UTUTIHTH

C. 44

D. STEA

E. UdIglX

- féu 0 fdeedl & ¥ el Sw g
1. A B DEC
2CDEAB
3.CADBE
4. C,AEBD
Options :

71087044189. 1
71087044190. 2
71087044191. 3
71087044192. 4

Question Number : 129 Question Id : 71087011091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the correct sequence according to Jainism.

A. Syadnasti

B. Syadasti ndastica

C. Syadavaklavyam

D. Syadasti ca avaklayam ca

E. Syadasti

Choose the correct answer from the options given below

1.A B CDE
2 EAEBDC
3EABCD
4ECDAEB

Options :

71087044193. 1
71087044194. 2
71087044195. 3
71087044196. 4

Question Number : 129 Question Id : 71087011091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



O H & 3FTER Hel 35 H g
A, THATRET

B. Waled Alled o

C. GEadoay

D. WG T Saadead 9

E. WGl

i feu ¢ fadent # € 981 SR g -
1.A,B,CD,E

2.E AB,D,C

3EABCD
4ECDAEB

Options :

71087044193. 1
71087044194. 2
71087044195. 3
71087044196. 4

Question Number : 130 Question Id : 71087011092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following processes in sequence as per Sri Aurobindo's Theory of Evolution
A.Heightening

B. Widening

C. Integration.

Choose the correct answer from the options given below

1.A B C
2C B A
3.BCA
4. B, A C

Options :

71087044197. 1
71087044198. 2
71087044199. 3
71087044200. 4

Question Number : 130 Question Id : 71087011092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



4 aRfdel & faord & Hgid & F8l HH I 98- Dol ;
A. JIH0T

B. famriorm

C. HUIH0

i U e faeal # 9 w8l 3w gy -

1.A B C
2C B A
3.BCA
4. B, A C

Options :

71087044197. 1
71087044198. 2
71087044199. 3
71087044200. 4

Question Number : 131 Question Id : 71087011093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following expresses a correct sequence with reference to Buddhism?
A. Animilta-samadhi, Apranihita- samadhi, Shanyala-samadhi

B. Apranihita- samadhi, Shanyala-samadhi, Animilta-samadhi

C. Shanyald-samadhi, Animilta-samadhi, Apranihita- samadhi

D. Shanyala-samadhi, Apranihita- samadhi, Animilta-samadhi

Choose the correct answer from the options given below:

1. A only
2. D only
3. B only
4. C only

Options :

71087044201. 1
71087044202. 2
71087044203. 3
71087044204. 4

Question Number : 131 Question Id : 71087011093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G aRiF-® A0 H &H U6 el @i o :

C. TOd-GHTY, SAET-9A, smiied-gany
D. YAdI-GAIY, AfUifed-wAIY, sifa-wafy
il fgu e fawedt & @ 9d Sw g -

1A

2.D

3.B
4.C

Options :

71087044201. 1
71087044202. 2
71087044203. 3
71087044204. 4

Question Number : 132 Question Id : 71087011094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following stages of acquiring Moksha as per Dvaita Vedanta in the correct
sequence

A. Sarapya, Sarapya, Samipya, Salokya

B. Salokya, Samipya, Sarapya, Sarapya

C. Sameepya Salokya, Sarapya, Sarapya

D. Salokya, Sarapya, Sardpya, Samipya,

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only

Options :

71087044205. 1
71087044206. 2
71087044207. 3
71087044208. 4

Question Number : 132 Question Id : 71087011094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



&d daid | H1& BT el HIHH T 5 ?
A, TR, 9w, W, TeiE

3. FIiied, G, oW, §igd

C. g, Irdie, e, IRy

D. TG, Uigod, 9Red, Iy

i feu 7 famedl 7 9 wel Iw g+
1A

2.8

3.C
4.D

Options :

71087044205. 1
71087044206. 2
71087044207. 3
71087044208. 4

Question Number : 133 Question Id : 71087011095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the practical teaching of the Upanisads, what is the correct sequence of the three orders of

knowing?

A. Manana, ﬁravaﬁa, nididhyasana

B. framna, Manana, nididhyasana

C. Manana, nididhyasana, ﬁramna

D.ﬁramnar nididhyasana, Manana

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only

Options :

71087044209. 1
71087044210. 2
71087044211. 3
71087044212. 4

Question Number : 133 Question Id : 71087011095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A FH, Haur, e
B. 4qUT, §, FHfqeara
C. 74, Ffcera, s
D. #qu], FfqearH, 377
i feu 7 famedl 7 9 wel Iw g+

1. A
2. B
3.C
4.D

Options :

71087044209. 1
71087044210. 2
71087044211. 3
71087044212. 4

Question Number : 134 Question Id : 71087011096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following types of ignorances, as per Sri Aurobindo, in the correct sequence
A. Original Ignorance, Cosmic ignorance, Egoistic ignorance, Temporal ignorance

B. Original Ignorance, Egoistic ignorance, Cosmic ignorance, Temporal ignorance

C. Original Ignorance, Temporal ignorance, Cosmic ignorance, Egoistic ignorance

D. Egoistic Ignorance, Cosmic Ignorance, Original Ignorance, Temporal Ignorance
Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only

Options :

71087044213. 1
71087044214.2
71087044215. 3
71087044216. 4

Question Number : 134 Question Id : 71087011096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



#ft aRfdg & g & Fufafed § 9 oF te 98t e & 2
A, Fifcid 3§, IS 37, SEHETHS T, BIad A

B. HIfT® 3§, SEHETED [, A4® 3§, BIad FH
C. Hifcid [, BIfcid 7, AfD [, SeHEHS 5

D. MEHATES [, A [, Hifld® AHFH, BIAD SHFH
i feu v fasedl & € w8l SR 9

1. A
2. B
3.C
4.D

Options :

71087044213. 1
71087044214.2
71087044215. 3
71087044216. 4

Question Number : 135 Question Id : 71087011097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The problem of Universals was first introduced into Philosophy by

1. Acquinas
2. Aristotle
3. Plato

4. Berkeley

Options :



71087044217. 1
71087044218. 2
71087044219. 3
71087044220. 4

Question Number : 135 Question Id : 71087011097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A & THS & URY GRH9RE | [agd g fdear mar ot -

2. 3T
3. el

Options :

71087044217. 1
71087044218. 2
71087044219. 3
71087044220. 4

Question Number : 136 Question Id : 71087011098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

In the light of Bhagvadgita,

Assertion A: True renunciation is the renunciation of fruits of all actions.

Reason R: Fruits of actions stand in the way to renunciation

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044221. 1
71087044222.2
71087044223. 3
71087044224. 4

Question Number : 136 Question Id : 71087011098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
HHGYA (A) : WGl @ AP § o1 90" 9 U6R & &9 & Hal 9 999 &
q® (R) : PHHE HI& A H S14F oid o

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
A) IR (R) G 61 € 3R (R), (A) BT Tel ARATG 1
;;)aﬁ€gﬁjfﬁﬁf¥ﬁ§T%1ﬂﬁ€(RL{ﬂjfﬁTEﬁﬁiiﬂEﬂﬁ?ﬁﬁ%?

A) W8l 8, IR (R) Ied &

A) TAd 8 0 (R) ¥el &

Options :

71087044221 1

71087044222, 2

71087044223. 3
71087044224. 4

T
2.
3.
4.

Question Number : 137 Question Id : 71087011099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In case of a valid deductive argument, the conclusion is logically deduced from
the given premise(s)

Reason R: The conclusion is not formally contained in the premise(s)
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044225. 1
71087044226. 2
71087044227. 3
71087044228. 4

Question Number : 137 Question Id : 71087011099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -

DY (A) : T FIHATES do & [9ug | ey T 70 sMyRadd ¥ difed ©u 4 Fdaal
B

dP (R) ; 3MURAE H py SiUaiie ®U ¥ T8l sl ol

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
A) IR (R) G 61 € 3R (R), (A) BT Tel ARATG 1
A)aﬁ?gﬂjaﬁﬁfﬂﬁﬁaﬂ?cﬁjr (A) I T TR ol o
A)FIEAP[%":DH{R]TTIH%I

A) TG 8, R (R) 9ol &

Options :

71087044225. 1

71087044226. 2

71087044227. 3
71087044228. 4

T
2.
3.
4.

Question Number : 138 Question Id : 71087011100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: According to Advaita Vedanta, Brahman is indeterminate
Reason R: The intellect cannot possibly grasp it, but only point to it

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044229. 1
71087044230. 2
71087044231. 3
71087044232. 4

Question Number : 138 Question Id : 71087011100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
HHBUA (A) : Hgd dald & HIUR §al SHH1Ed g

dd (R) : 39 dfG GRT ol YT S Jdbdl, T ITD! AR Hebd fodl ol Gabll 5
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
A) IR (R) G 61 € 3R (R), (A) BT Tel ARATG 1
;;)aﬁ€gﬁjfﬁﬁf¥ﬁ§T%1ﬂﬁ€(RL{ﬂjfﬁTEﬁﬁiiﬂEﬂﬁ?ﬁﬁ%?
A]Eﬁff%;tﬁ?gcﬁjﬂﬁﬁT%W

A) Td 8, T3 (R) Tl &

Options :

71087044229 1

71087044230. 2

71087044231. 3
71087044232. 4

T
2.
3.
4.

Question Number : 139 Question Id : 71087011101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In Ramanuja, monism and theism are succinctly harmonized
Reason R: Harmonisation is not at the cost of philosophical argumentation

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044233. 1
71087044234. 2
71087044235. 3
71087044236. 4

Question Number : 139 Question Id : 71087011101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
H@GY (A) : TS H THa@dlG iR Gafaddlg Wpey 4 GAEUd 6|
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IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
A) IR (R) G 61 € 3R (R), (A) BT Tel ARATG 1
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A]Eﬁff%;tﬁ?gcﬁjﬂﬁﬁT%W

A) Td 8, T3 (R) Tl &

Options :

71087044233. 1

71087044234, 2

71087044235. 3
71087044236. 4

T
2.
3.
4.

Question Number : 140 Question Id : 71087011102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The concept of Nirguna Brahman seems to be neutral to the demands of
religious feeling
Reason R: Religious feelings and logical thinking cannot go together

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044237. 1
71087044238. 2
71087044239. 3
71087044240. 4

Question Number : 140 Question Id : 71087011102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 710870321
Question Shuffling Allowed : Yes

Question Id : 71087011103 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

... although different people may see the table slightly differently, still they all see more or less
similar things when they look at the table, and the variations in what they see follow the laws
of perspective and reflection of light, so that it is easy to arrive at a permanent object
underlying all the different people's sense-data.... Thus it is the fact that different people have
similar sense-data, which makes us suppose that over and above the sense-data there is a
permanent public object which underlies or causes the sense-data of various people at various
times.

Now in so far as the above considerations depend upon supposing that there are other pecple
besides ourselves, they beg the very question at issue. Other people are represented to me by
certain sense-data, such as the sight of them or the sound of their voices, and if | had no
reason to believe that there were physical objects independent of my sense-data, | should
have no reason to believe that other people exist except as part of my dream. Thus, we are
trying to show that there must be objects independent of our own sense-data, we cannot
appeal to the testimony of other people, since this testimony itself consists of sense-data.

Sub questions

Question Number : 141 Question Id : 71087011104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The second paragraph of the above passage draws upon:

1. Idealism
2. Realism
3. Solipsism
4, Relativism

Options :

71087044241. 1
71087044242, 2
71087044243. 3
71087044244. 4

Question Number : 142 Question Id : 71087011105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

First paragraph of the above passage makes a case for which of the following?

1. Idealism
2. Realism
3. Solipsism
4, Relativism

Options :

71087044245. 1
71087044246. 2
71087044247. 3
71087044248. 4

Question Number : 143 Question Id : 71087011106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is/are included in the reasons offered to prove the existence of the
external world in the given passage?

A. Testimony of other people.
B. The similarity in sense data in similar conditions.

C. The variations in our sense data can be explained through the laws of perspective and
reflection of light.

D. The fallibility of sense experience.
Choose the correct answer from the options given below:

1. A and B only

2. A, Band Conly
3. A, B and D only
4. D only

Options :

71087044249. 1
71087044250. 2
71087044251. 3
71087044252. 4

Question Number : 144 Question Id : 71087011107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the above passage:

| should have no reason to believe that other people exist, except as part of my dream
because:

A. | have no way to ascertain that the other person could be lying.
B. Existence of other people could also be reduced to sense-data.

C. Things that | see in a dream do not exist in the real world.

D. | can only be sure of my own experience.

Choose the most appropriate answer from the option given below:

1. A only
2. B only
3.B and C only
4. A and B only

Options :

71087044253. 1
71087044254. 2
71087044255. 3
71087044256. 4

Question Number : 145 Question Id : 71087011108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The philosophical position which is contrary to the position that ‘there are other people in the
world apart from ourselves' is termed as:

1. Solipsism

2. Subjective Idealism

3. Transcendental Idealism
4. Scepticism

Options :

71087044257. 1
71087044258. 2
71087044259. 3
71087044260. 4
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:No

Question Numbers : (141 to 145)

Question Label : Comprehension
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71087044241. 1
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 71087011106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Read the given passage carefully and answer the questions that follow

If you think that such and such objects of true cognition are established through the
instruments of true cognition (pramanas). We ask: how are those 'instruments of
cognition’ established? If you think that the ‘objects of true cognition' (prameya) are
established through the ‘means of true cognition and those 'means of true cognition’ are
established through other 'means of true cognition’ then there is...

Now if you think that those pramdnas are established without pramanas, then your
philosophical position is abandoned.

The view that pramdnas establish themselves as well as other things, is called
Svatahpramanyavada that was advocated by Prabhakara and Sankara.

Now if you think that through the establishment of pramanas are established the prameyas,
and that through the establishment of prameyas are established the pramdanas,_then there will
be anyonydsraya dosa.

Sub questions

Question Number : 146 Question Id : 71087011110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following schools of Indian Philosophy believe that ‘the pramdnas establish
themselves'?

A. Nyaya

B. Buddhism

C. Prabhakara

D. Samkara's Advaita

Choose the correct answer from the option given below:

1. A and B only
2. B, Cand D only
3.Cand D only
4. B and C only

Options :

71087044261. 1
71087044262. 2
71087044263. 3
71087044264. 4

Question Number : 147 Question Id : 71087011111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which fallacy would occur if one believes that through the establishment of praméanas are the
established prameyas and that through the establishment of prameyas are established
the pramanas?

1. Anavastha dosa (infinite regress)

2. Cakraka dosa (fallacy of circularity)
3. Anyanyasrya (Interdependence)

4, Gaurana dosa (Redundant)

Options :

71087044265. 1
71087044266. 2
71087044267. 3
71087044268. 4

Question Number : 148 Question Id : 71087011112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The kind of reasoning used in the given passage is:

1. Dilemma
2. Paradox
3. Puzzle

4. Strawman

Options :

71087044269. 1
71087044270. 2
71087044271. 3
71087044272. 4

Question Number : 149 Question Id : 71087011113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

If one believes that instruments of true cognition are themselves established without any
instruments of true cognition, then which philosophical position is abandoned?

1. Objects of true cognition (prameyas) are established through the instruments of true
cognition (pramanas)

2. Pramanas are self-established

3. Prameyas are self-established

4. Both pramdnas and prameyas are self-established

Options :

71087044273. 1
71087044274. 2
71087044275.3
71087044276. 4

Question Number : 150 Question Id : 71087011114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The statement that ‘pramanas established themselves as well as other things' represents the
doctrine of:

1. Paratah pramanyavada
2. Swatah pramanyavada
3. Swatah apramanyavada
4. Paratah apramanyavada

Options :

71087044277. 1
71087044278. 2
71087044279. 3



71087044280. 4
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